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INTRODUCTION

English is a foreign language for the Indonesians, Eng-

lish is one of the most important language  in the world,
since‘it functions as ah international language. Thus, the
English language learning is becoming more and more impor-

tant, This is also true to the Indonesians. It is 80 because

to enlarge and to deepen their knowledge they have to  read.

books or listen to news in Lngllsh.
However, after learning for years it shows that Indone -
sian students are still not capable of expressing their ide-
as or of understénding‘subjects, speeches, or broadcasts  in
English. This thing happéns because  English is aifficult.
One of the aspects that makes it difficult to learn English
is‘ifs system, The system of “nglish is different from that
of Indonesian, Each language has its twn system. The differ-

ence especially lies in their structural system. Supporting

this idea Lado states in his book Language Teaching as fol-

“lows

The most important differences between two languages:
are not those of words, striking though vocabulary
differences maybe The basic differences are in their
structures gince each language has its own sgystem of
sentence patterns, intonation, stress, consonants
and vowels, 1) ‘ ‘

Gorys Keraf in hls book gtabagasa Indonesia untuk Sekolah

Menengah Atag also says as follows :

Setiap bahasa mempunyai sistem-sistem yang khusus
- untuk mengikat kata-kata ztau kelompok - kelompok
kata ke dalam svatu gerak yang dinamis. Sebab itu
tidak dapat dibenarksn untuk menyusun tatakalimat
“suatu bahasa dengan menerapkan begiiu saja sin-
teksis bahasa lain, ceees 2) ‘

1) Lado, Robert. Language Teaching, A Scientific Approach
McGraw Eill Inc., New York, 1964, page lh.

2) Keraf, Gorys. Dr. atabshasa Indonesia untuk Sekolah
Menengah Atas, Cetakan VII, Rusa Indah, arno1dus,
Ende-Flores, 1980, page 136. ‘




He says that every language has its ownvsystemcto‘bound

‘words or phrases ihto a dynamic movement. Thus, it cannot be

Justified to arrange sentence structure of a language just_:

‘«by applying the syntax of another language,; ocseesvee

Seeing those facts, when we learn a language,‘we shonld'

‘learn its structure in order to use the 1anguage correctly.

English as a language must also have its own structure that

is different from that of others 1ncluding Indone51an.; Eng-
Llish has tenses, whereas Indonesian does not Since Indone -
“siah does not have amy tenses, they are problems for Indone-

| sians learning English.

This thesis is trying to observe students work in Pre~
sent Perfect Tense and the English verd Thave!', - The students
observed were Senthor High School Students. The tests - ‘tried

out were of two types, multiple choice and essay, easy“and~

‘difficult"The multiple choice test was the easy one. It wasj‘

based on the SMP, Junior High School, curriculum. By trylng"
out this test the writer wants to know the knowledge of Se-
nior High School students in Present Perfect Tense. The se-

condvtest, the essay one, was more difficult since the stu-

‘dents must find their own answers and the material‘wes not

only based on the SMP curriculum but also taken from SMA cur-

ri¢ulum and even beyond those two curriculums. Be51dos, ‘the
material tested was not only concerned with Present Perfect
ﬂense, but also with the English verb ’have' By doing 50 -
the writer aims at observing the students own creativityébe-.
yond their study at school., This is all discussed in- cnap—
ters I, II, and 111, | | |

In chapter I, the writerSpresents the data used for the

basisiof this thesis.‘The data include the place ¢f the ob-

~Servation,‘the time when the tests were tried out, and how.




long the tests should be flnished the students observed ‘the

‘,materlals of the tests, and the result of the students work

The result of the students' work itself conslsts of “tables

dealing with the subJect verb group, the number of students

‘answerlng correctly and incorrectly, and the percentage. The
‘ detall of the wrong answers, the number of the students, and“,““

“the persentage are also stated aftee the above tables.

 The next chapter, chapter II, will talk about the  ana-

~lysis of the data or the errors made by the students  as

‘writteﬂ in the preVious chapter, This analy51s is also | ac—t_‘j

companled with the sources of the difficulties that lead\

the gtudents into errore.

- To preVent the same errors, teachers must do somethlng

‘that ig useful for the students. That activ1ty is called re=
o medlal teachlng. This thesis also talks about this 1n chap-
ter III, At the very end of this chapter the writer glves Lhe S

concluslon of what have been written before.




CHAPTER I
THE DATA

This chapter presents the data used‘as‘the~basis of‘thistk}‘

ewrltlng. The data 1nclude the place. tlme, students, materi-

als, and the. results of the tests.

The tests were admlnlstered in SMA otelld Duce‘ on - Jalan

TSablrin 1 - 3 Yogyakarta where the wrltex taught. They wexe'
“done on August 31, 1981 September l, 1981 Sepetember 7, 8,
 and 10, 1981,

“ The students d01ng the tests were of the first, | second‘f

and third year claesee. They were 108 flrst year students,

| 115 second year students, and 22 thlrd year students. The to-

tal number of students was 245. They were divided into two

”‘groups. The first group conslsted of 155 students and the se~ :
‘f,fcond consisted of 90 Each group was given dlfferent test ma~‘

eu terlal.

The test materials were of two types, easy and dlfficult.r'

The easy one was tested to the flrst group ef students ,:aud

' the difficult one was trled out on the second group of stu-

tdente. The first test was baeed on the vocabulary 1let : ;af*‘

GEPP 1975 for SMP except ‘the verb number h ( see the ‘test ma-
terial‘on‘ﬁage 5 ). It wes given in multlple cholce type. The
second test was in the form of essay. Some words were very dif-

ficult and gome were not. Some patterns were already kuown |

'and some were not by the students, The second test 1ncluded ‘
‘also translation from IndoneSLan into English. waever,\~ all
‘dealt with the use of 'have! including the word 'sudah' in In*

donesian. The follow1ng were the tests tried out s




|The first test

‘ﬁireotions':‘Choose the correct‘anSWer to fill in the blanks,

Give a cross on the letter in front of the cor~"

rect answer.

‘l. Mr‘. Achmad ... us.

a. have leaved | | Cc. has leaved
b. have left d. has left

2. Peter and Paul ,... the answers. |
a. have finded . ¢, has finded

b, have found " d. bas found

3. My friend, Anti, .....to my last letter.

a. have not replyed | ‘c; has not replyed

b. have not replied d. has not replied

- L, That hen coss lots of eggs for these last two months.

a. have layed - ¢, has layed

b.hMGlmd ‘ _ d. has laid

5. The students eses in the school-yard for ten mlnutes.‘
a. have played | ¢. has played
by have plaied ‘ d, has plaied L

b Suharto, the pres1dent, cose Indonesia for ten years.

a. have leaded - has leaded

b. have led o d. has led

This test was. trled out to those 155 students by the wrlter's
colleagues in SMA Stella Duce a few mlnutes at certain peri -

~ods before they really taught the students.

The second test

There are three groups in this test : putting the verbs

in brackets into the correct Present Perfect Tense, making




e

negatives and interrogatives from statements using 'have',

.and the last one is translation.fromeIndonesian into Enge‘

lish. Here is the test :

I.‘Directions : Put. the verbs in brackets into Present

‘, 1.

11.

Ze

3
.

5¢

6.

Perfect Tense.

People (lie) on the grass enjoying the‘sunShine for

- an hour.

S 5 6 0000 DO FOLREL ST O NGO TP SO0CIFEOOORNSESSSOSSOOENESDTTS

Our guide (lead) us through a series of caves.

006600..690....06.0.l-o.‘i.‘--oanc".-oooaoovoo.o‘q
The industrial revolution (modify) the whole struc-
ture of English society.

The villagers (thrust) spears into the tiger's
stomach, | |

“....‘.......‘.......iﬂ.“.l‘....................ﬂ..

Who (lay) the linoleum ?

S S eSO RSSO SITOETRNIOOEBILES

(you, wind) up‘your‘watch 2

OV 00k eeTHOOEOISCeO SO OPIBSBPOOEECOOE

Directions : Make theufollowing sentences into :

A.

Negaiixeg

1. My brother has his bicycle mended.

) ("') iiﬁb.‘i.ito.ucdc.-b-obio.o.o..‘
2, I have my bicyele cleaned by the time he has
breakfast, ‘

(") boo..oo.oo‘--ooooooo,o--oo‘.oo.oo-oooo.-.l

- 3, We have him polishing shoes,

(")‘ .'..‘....0-.’..........0..
L. The teacher has the studentwm write the report.

(—) 4 © 0 605 GO H OSSP OLSTIDEIOEDOPSOSIRNSOGOGOOSITIPOOEVINOEBRRDRYS SO




5. They have headaches often,

(") f.octuoo-ooo.o-ooo;oo,o
6. The merchants have lunch in that restaurant,

(-) S0 Ve 0 se R TEEPseostessrsestenesslat SR

B. Interrogatives

1. He has to arrive at seven a.my

2. The owner also has a car.
3. The‘two boys have won the prize;

4, The girls have a job tomdo,

(?) @ectessessevesssesrnsua

III, Directions : Translate the following senténces into Eng=.

lish,
1. Mereka sudah makan Siang.
2. Ibu sudah pergli ke pasar kemarin pagi.

G & 4 * 8 400000000 OECOEP RN 0P PAdCOeRNOY S

. This second test‘was tried out on those 90 students, the
second group, by the writer's colleagues too for forty minutes,
but some students finished earlier.

The sentences in the test were taken from some sources :
dictionaries, magazines, books, or the writer's own.sentences.
Having finished correcting‘the studenﬁs'work, the'writer
tried to classify the students that have answered correctly

and thdse that have answered incorrectly. He also classified

-students ghat have answered incorrectly further according th’

the type of errors they have made. The writer also writes the

number of students answering correctly and incorrectly and ale




so the percentage, Here is the result.

The result of the tests

The first test

1. Mr. Achmad .... US.

a. have leaved . - c. has leaved
b. have left =~ d. has left
subject verb group oghesﬁﬁﬁgﬁié ‘Pﬁggin‘
third persbﬁ have leaved ; 3 1.935 %
gingular ‘ ‘ _
have left 1 0.645 %
has leaved 27 117.419 %
| /VMdﬁ/Iéff////7//////IZM//////5¢/5¢¢/7%7/ ‘
VISV ITIIIRTIIIA VRNIIIIIININS VYINR NN

V///A : the corrcct one

2o Petef and Paul .... the answers.

a. have finded = c. has finded RN
B, have found R d. has found
mbgect | verd sroup | B puiter | vereon
third person ]| have finded | 14 9.032 %
plural . ‘ ‘ - ,
//////////////?//////////////7//[////// '
has finded 1 0.645 %
~has found " 2.580 %

7777 : the correct one

3. My friend, Anti, .... to my last letter,
a. have not replyed Cc. has not replyed

b. have not replied d. has not replied




b

De

the number

percen-—

‘any answer,

ZZZZ‘:

In this number there was one student that did not choose

the correct one

That hen ,.,.. lots of‘eggs for these last two months.,

a. have layed

. b. have laid

¢c. has layed

With this questlon there were two students who did not an-

SWeI‘.

d. has laid
subject 4 verb group | the number { percen-
o ' of students tage
third person ‘have layed ‘8 § 5.161 %
singular : R '
| have laid ;7 1719 %
has layed Cjaess % |
VLT T T o
§55/1544 ///////if/////%///// M/‘%//%ﬂ
V72 : the correct one

The students ,.,.. in the school-yard for ten minutes,

a. have played
b. have plaied

- C. has played
\ ‘ :

d. has plaied

subject ' verb group of students tage
third person have not replyed | | é ‘1.290 %
singnlar have not repliéd 13 8.387 %||
has‘not‘replyed | 8'387,%‘
Viod s deseints %ﬁ%ﬁ%ﬁ 47555
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subject

¢

verb group .

4 the number .
of students

percern=
tage

third person
' plural

2o

55588

have plaied
has‘playéd
has plaied

7

4,516 %
6,451 %
O.6u5 %

a., have leaded

V///] :+ the correct one

¢. has leaded

6. Suharto,‘the presideht, «e+. Indonesia for ten years,

b. have led d. has led
j subject. 4 verb group the number percen-
] ‘ ~ c of students tage
third person have‘leqded 5 3.225 %
singular ) ;
: have led 2 1.290 %
 has leaded 87 56,129 %

W )

:

One o# the students did not give any answer.

The‘secoﬁd test

I. Directions

~ fect Tense.,

the correct one

: Put the verbs in brackets into Presegt Per-

1. People (lie) on the grass enjoying the sunshine for an

hour,

subject

! #erb grdup

‘ the number

L

of students?

percen-
tage

plural

others

71

Rl Vissslisos M I sl

78.9 % |

////l + the correct one




11

From those 7l‘students answering incorrectly, they answered

as follows :

answers 5 oghesggggiis A pércentage‘
has lain : 5 L - 6.666 %
has lied 2 2,222 %
lied 5 5.555 %
| have lied 8 - 8.888 %

I has liying 2 2.222 %
3 liying 3 3.333 %
have liying 5 5.555 %
lieying 1 | 1,111 %
; has lying 2 2.222 %
lying 4 Lohlh %
| have lying 1 1.111 %
j have lie 4 Lohht %
| have 1y 1 1,111 %
have been lying 3 3.333 %
have been lieing 1 1.111 %
have been lie 1 1,111 %
have been lied A holihl %
have lay 3 3,333 %
has lay 1 1111 %
had lain 1 1,111 %
lain 1 1.11) %
had been lied 4 Lokl %
have laid 2 2.222 %
S will liek 1l 1.111 %
are laying 1 1.111 %
was liying 1 1,111 %
lies 1 1,111 %
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- the number ‘ ‘
answers i of students percgntage
were lied . 1 . l.lll‘ %
has lieying 1 1,111 %
no answer 3 34333 %

‘ Frdm those errors, 45 students made errors on the form of

Present Perfect Tense, 24 students failed in making  the .

past participle, and 13 students failed in choosing  the

auxiliary verb have, they used has instead, and 16 stu-

dents added -gd to the first form to make past participle.

2. Our guide (lead) us throu5h a series of caves,

the number

percen-

SubjeCt ) ‘verb group fof students** tage
LILLLIALLS 11 IRI 1172747177787 47477 40/
enird verson UGG A
gular ‘ Libdd
others 87 96.7 %

YL the correct one

From those 87 students answering incorrectly, their  an-

swers. were as follows :

,ansﬁers R oghesgggggﬁs percentage
led ‘ 1 | 111 %
have led 5 5.555 %
has leaded 6 6.666 %
}1eadéd L hobll %
have leaded 7 7.777 %
has lead 9 9.999 ‘%
‘to lead 1 1,111 %




‘13

answers oghesﬁggggis - percentage
lead 3 34333 % é
havé lead 6 6.666 %
has leading 5 5.555 %
leading 6 6.666 %
have leading L Lohuh %
have been led 2 2,222 %
have been lead 1 1111 %
has been lead 1 1,111 %
| has ﬁeenlleading 2 2,222 %
have beenileading | B 2.222 %
have been leaden 1 1.111 %
has lied 1 1,111 %
has load 1 1,111 %
load 1 1,111 %
 have lied 1 1,111 %
has leaden 1 1.111 %
has lean 1 1.111 %
has leat 1 1,111 %
were leaded 1 1,111 %
leades 1 1.111 %
was leading 2 2.222 %
had been leading 1 1,111 %
will lead 1 1111 %
have leid 1 1.111 %
had been led .1‘ l.lil %
no answer 6 6,666 %

From those errors, 45 students made errors on the fprm of
Present Perfect Tense, 53 students made errors on the past

participle, and 18 students failed in maeking or chousing




1y

~the correct auxiliary has, they used have ianstead.

3. The industrial revolution (modify) the whole structure of

English society.

subject‘ { verb group { o«

| the numbef
students’

percentage

/17

77777
isiseds il

singular

others

enira yoroon G4BT /AT

71

78.9 %

swWers were as follows :

V/ /A : the correct‘one

From those 71 students answering incorrectly, their an-

answers the number { percentage
of students
modified 8 ‘ 8.888 %
have modified 8 8.888 % -
has modify 5 5.555 %
to modify 1 1.111 %
have modify 5 5.555 %
has modifying 5 5.555 %
modifying - 8 8.888 %
have modifying b Loty %
have been modified 1 1,111 %
has been modified 3 3.333 %
have been modify 1 1,111 %
have been modifying 3 34333 %
has been modifying 1 1,121 %
is modifyng 1 1,111 %
modifing 1 1,111 %
have modifyed 2 2.222 %
modifier 1

1,111 %




1 ‘15 

answers . 4 the number | percentage
‘ of students
have modifi g 1 ‘ 1.111 %
| had been modified- 1 ood.11l %
will modify 1 1111 %
| modifying 1 1,111 %
modifer 1 1.111 %
modi fyed 1 1.111 %
have been modifing 1 1,111 %
Was‘madifieng | 1 ‘l.lll‘%
modifies 1 1.111 %
 was modifier 1 1.111 %
no answer 3 3.33%3 % |

From thqéé errors, 43 students madé‘errors‘in the form of
Presenﬁ Perfect Tehse, 12 students made errors in .  the
past participle, 2 students failed in changing the -y end-
ing into =i before they added -ed, and 25 students failed
in using the correct auxiliary~h§§, ‘they used ggxg‘k in-

stead.

L. The villagers (thrust) spears into the tiger's stomach.

the number
1of students]

wisa yorson \BGTRIT 8T8

subject '§ verb group ‘percentage

others 72 80 %

V/77 : the correct one

From those 72 students”answering incorrectly,‘ their an=- -

swers were as follows :




T

N LR
| thrust ey halibly %
has thrust 5 | 33339
have_thruéted’: 17 | ‘18.833.%

* thivsted o bbbk %
 has thrugted 1 .11 %
have‘thrusting: 6 | 6,666 %I
thrusting 8 8.888 %
are thrusting 1 1,111 %
has thrusting 1 1.111 %
‘have been‘thruét‘ 2 2.222 %
‘have been thrusﬁed n Lo L %
have beeh thrusting 5 5(555 %
throust 1 L1
has thrast 1 1111 %
have thrusts. 1 01,111 %

' have throw | 1 1.111 %.
were thrusted 2 2.aé2 %}
was thrustlng 1 1,111 %
is thrusting 1 1,111 %
will thrust 1 1,111 %
have ﬁhrew | 1‘ ‘1.111 %
no answer 6 6,666 %

From those errors, 42 students made errors in the form of
Present Perfect Tense, 32 students failed in making the
past participle, and 6 students failed in using the cor~ ‘

rect‘auxiliary.verb have, they used has ;nstead,




5. Who (lay) the linoleum ?

subject verb group | the number percentage
of students | :
i senon | IR
‘ 1z ‘
thi§§j§§§§°n §§§§/§§§§/f//////?éffff%////??74/?5?5_
others ‘66‘k 73.5 %

RIIE the correct one

 Frofi those 66 students answering inéorrectly, their an- o

swe¥s were as follows :

" answers the mumber | - percentage
of students ‘ o
laid ] 5 5. 5550
has ‘."“L‘ayed‘ ‘ 1 ‘ l‘.lilb %
layed 2 2.222 %
have layed 2  2,222‘%‘
has lay 3 3.333 %
‘iéy | 2 2,222 %
have lay 2 2,202 %
‘has laying oy  hohbh %
laying 6 6.666 %
have layihg 1 1. lli %
hag been laid 1 1.111 %
has been layed. 1 1,111 %
have been lay 1 1,111 %
“has been lay 1 1.lllﬁ%
‘has been laying L “4,444 % j
have been laying 1 1,111 %“
has liying 1 ‘ 1.111 %
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answers | the number percentage.
' {of "students{

is laying | 2 ‘ 2.222 %
‘have lie 1 1.111 %
jhés lyying 1 1.111 %
have‘iayen 1 1.111 %
has laied 1. 1,111 %
is lying 1 1.111 %
is lay 1 ‘1;111 %
have laied 1 1,111 %
' has lieying 1 1.111 %
have who laid ... 2 1 1.111 %
have lain | 1 1,111 %
is laid 1 1,111 %
laid have 1 1,111 %
did have lay 1 1,11 %
lain 1 1,111 %
has lie 1 1,111 %
‘had been laid 1 1,111 %
will lay 1 1.111 %
was laying 2 2,222 %
have led 1 1.111 %
had laid 1 1.111 %
were‘laying l. 1.111 %
is laying 1 ‘i,lll %
né answer‘ 3

3.333 %

~From those errors, L4 students made errors in the‘form of
Present Perfect Tense, 21 students failed in producing
the past partiCiple, 13 students used auxiliary have and

20 students used has.




6. (you, wind) up your watch ?

19

subject verb group .

the number .

of studentsf Percentage

second person

singular
: othersg

ool S I T X T

88 97.8 %

/77/A : the correct one

From those 88 students making errors, their answers were

| as follows :

- answers oghesgﬁggggs.‘perdentage
are wind 1 1,111 %
wind 1 l.lll'% 
‘have wind 17 18,888 %
‘do winding 1 1,111 %

‘j¥are winding 3 34333 %

Efvw.vinding 2 2,222 %
‘have winding 5 5.555 %
have winded | 7 7-777‘%'
had winded 1 1.111 %
have beén winding 2 2.222 %
have been wind 1 1,111 %
have been 1 1.111 %
You have wind up your watch? . 1.111 %
I have wond up your wateh, | 1 1,111 %
ﬁow‘have you wond up your watch? 1 1,111 %
You have‘wond up jour watch, ‘ 1l 1,111 %
I winded up your watch, . 1 1,111 %
wond 5 3.333 %
You have wind up your watch? 1 1,111 %




thé number

percen-
answers of students] tage
woun up- 1 1,111 %
Did you have wond up your watch? 1 1,111 %
Wind up your watch?® | | | 1 1.111 %
Did you have wound? 1 1.111 %
You have wind up ydur watch, 1 1,111 %
You have wound up your watch? 1 1.111 % |
wint up | 1 1.111 %
Winded‘you up? | 1 1,111 % |
You have winds up your watch? 1 1,111 %
has .,.;‘Wind UD eees? | 1 1.111‘%‘
You have winded up your wétch?  2 2.222 % |
Ydu‘have winding up your watch? 1 1,111 %
wund up | 1 1.111 %
You have been wind up ....? 1 1,111 %
Are you winded up your watch? 1 1.111 %
You, wind up your watch? | 1 1.111. %
- You wond up your‘Watch?“ 1 1.111 %
‘Wind'you\were‘your‘watch? 1 1.111 %
Is you\ﬁdund ip your watch? 1 1.111 %
 You winded up your wafch? | 1 i,lll %
' You wound up your watch? 1 1,111 %
Are you winding up your‘watch?‘ ‘1 11,111 %
been winded | i | 1.111 %
Will you wind up your watch? 1 1.111 %
Wind you up your watch? 1 1,111 %
no answer r :11 12,222 %

From those errors, 50 studebts showed that they did'not

ﬁnderstand the form of Present Perfect Tense, 58 studentis

showed that they did not understand the past participle
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of the #erb, and two students did not understand the aux-
iliary‘verb o the second'person singular Present Perfect
Tegseu

II, Directions : Make the fdllowing sentences into négative,

l; My brother has his bicycle mended.

L the number } percen-
of students] tage

wira person |)8005 800500V 1) /)T 198

Singular
others 83 | 92.2 %

subject § verb group

V///A + the correct one

From those 83 students making‘efrors,‘their answers

were as follows : | |

' Sixty three students, 70 %, considered that has in that
sentence was an auxiliary, Twenty other students, 22.2%,
answered by using their own‘wayé. The followiné . were

their answers‘:

answers Oghesggggggs‘ percentage
do not has 5 5.555 %

~doesn't has 5 5.555-%

" don't have' I holihly %
didn't has 2 2.202 %
is haven't 1 1.111 %
has didn't 1 1.111 %
hasn't have 1 1,111 %
has éon't-" 1 l.lll‘%‘

2 I have my bicycle cleaned by the time he has breakfast.'
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subject verb group ogh:tﬁgggig {-percentage

: 77T LT 7 777777 B TATE
Lot person Vit odl T T seded,
| others | 71 78.9 %!

/[ the‘correct‘ﬂne‘ |
From those 71 students answering incorrectly, their an--

 ‘swers were as follows : \ ’
Fifty nine students, 65.6 %, considered that the have in

that sentence was an auxiliary. Twelve other students,

13.3 %, answered as follows :

answers ‘oghesgﬁggggs percentage
have did not 1 1.111 %
have | 2 .2‘222 %
not have 1 1.111 %
have doesn't 1 1,111 %
did not have 6 6.666 %
nb answer 1 o 1,111 %
S We.haVe him poiishing shoes,
swbject | verb group | B puater | Foeen|
‘F i  “- - f “‘MW'77 /. H /‘\ ”/7//////um//// 7N
first person /§§/§§§/§§§§/V/////xgé////????535???%& |
plueal - £L LLld
others 62 68,9 %

| Ezzz : the correct one
From those 62 students who answered‘incorrectiy, 57 stu-
~dents, 63.3 %, considered that have in that sentemce wus

an auxiliary; Five other students answered as follows : 
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‘ the number ‘ :
answers of students ¢ perqentagev
have does not 1 1,111 %
is haven 1 1.111 %
didn't have 2 L 2J222 %
do have not 1 1.111 %

L. The teacher has the students write the report,

‘subject

verb group

“.the number

of studeants

percentage

third person
singular

~others

| LLLLILLLEL LTS 117X AL A
Zéééélééfééééﬁ////li//////////7 !é/%//‘

77

85.6 %

V///' : the correct oné_

From those 77 students answering incorrectly, 59 students

£5.6 %, considered that the verb has in that sentence was

an auxiliary, The reminder, 20 %, answered as follows :

| answers oghesgﬁﬁgﬁis percentage
~don't has 3 3.333 %
doesn't has 7 7.777 %
don't have 3 3.333 %
didn'ﬁ has 2 2.222 %
‘.write are haven 1 | 1,111 %
does not 1 1.111 %
has don't 1 ‘l,lll %

5. They have headaches often.

subject 5

verb group

the number
of students

percentage

third person
plural

oA

7777 ///77”///§¢§§¢/Af |

T yartl i i

others

65

72.2 %

V/// : the ¢

orrect one
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From those 65tstudents answering incorreétly, 61 students,
67.8 %, thought that have in that sentence was an aux111ary

and four other students, L.4 %, answered as follows :

the number
answers of students percentage
didn't have | 2 2.222 %
do mot 1 1,111 %
are haven | 1 : 1,111 %

6. The merChants have lungh in that restaurant.

the number
40f students

it [

- subject verb group percentage.

others | | , 78.9 %

YL the correct one

Prom those 71 students answering 1ncorrectly, 62 students;

68 9 %, thought that have in that sentence was an auxili-

ary. Nine other students, 10 %, answered as follows :

' the number ‘

- answers {of studezts percentage
doesn't have 2 2.222 %
didn't have y o4 ol %
didn't has 1 1,111 %
no answer 2 2.222 %

Directions : Make the following sentences interrogative.

1, He has to arrive at seven a.m.
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subject . verb group Joghesgggzgis p:zg:n~
‘ y 7
iz R
| oot '//f/féz//f/i 55155)%,
others 29 132,22 %
| : the correct one
From those 29 students answering incorrectly,  their an-
swers can‘be tabulated as follows :
answers o§h98€§§2§§5'4  percentage
Das .ov. has ....n | 9 . 10 % |
DOES sess == woas 1 1,111 %
Has to he ...... 1 1.111 %
DO wees hES ceuns 3 34333 %
Did vu.. has ... 3 3.333 %
What time has ..... 1 1.111 %
Has he arrive ,.... 1 1.111 %
Has not he to .... 1 1.111 %
Does have he to .... 1 1,111 %
‘What time he arrive .., 1 1.111 %
Have he to ..... | 1 1,111 % |
‘Has .... arrived ... 1 1,111 %
Eoes he to arrived .... 1 1.111 %
Have he ...; 1 1,111 %
Has he have to .,.. 1 1,111 %
Was he t0 +... 1 1.111 %
Has he to arrives ... 1 1,111 %
Has he to arriving .... 1 1,111 %

2. The owner also‘has a car,
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subject verb grouyp .

ihe number
0of students

percen-
~ tage

tnird person |50/ 1NVA8 T

/7777

IIITIEII1 117117

vy

. 1 / / ’
e SR8

otherd

36

s

5 %

VZZA : the correct one

swers can be seen in the following table :

From‘those 36 students answering\incOrrectly,‘ their an-

the number

Doss the ownér also a car?

| Why owner also has a car?
{ Does have the owner also a car
‘Do the owner has also a car?

1 Has also the owner a car?

‘Has the owner %

Have ...

Was .s.. has ‘..,‘,‘ ‘

HaS s o e @ had‘co;o-

no answer

?

T R T R T T I O A R Vi S iy I N -

%
%
1111 %
L1

 answers of students. .perdéntage
DO .eu. hES .. |  6.666 % |
| Does ... has ... 6.666 % |
Do .... have .... ‘1.111 % 
Did .... has .... 2.222 %
Did .... have eeo. 1,111 %
It has the owner also? 1,111 %
{Is .u.. has oo.. 1,111 %
Has a car also‘the owner?‘ 2.222 %
Has a car the ovwmner also? 1,111 % ;
| Has o... has .... | ol %

1.111 3
1,111

1,111 % |
i g |
L1l & |
1,111 % 1

Ly |

2.222 %
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3. The two boys have won the prize.

percen.

subject  verb group oghesgggggis “tage
- ' /117 Y7 7777L77 777X 47774
thlgguggison éééé/ff// /77///////5?///[/’//§§ g////
| others 36 40 %

the correct one

| |
From those 36 students answering 1ncorrectly, their an=-

" swers can be tabulated as follows :

percen~-

answers oghesgﬁggzis tage
“; Does.g..;‘havé WOn es. ? k# ; 4;444 %1
| Dc... have vyv'on‘.... 7 8 8,888 %
‘Hé%é td boys‘havé‘won cos? 1 1.111 %
Are they have WOM 4..e 2 2 2.222 %
‘Have the twb‘boys the pfize? 2 2;222‘%‘
What‘the two boys have won? 1 l;lll‘%
Have won the two boys the ?iize¢‘~ 2  ‘;2.222 %
Did'haVe the two bdys win ,,..?' 1 1,111 %\
How the boys have won ...‘? 1 l‘lli %
bid ¢+vs have won sesees ? 1. ;l;lll %y
Have cere win cnve 2 | L ‘4;444 % 
DO eu.. have Wwin .... ? 1 ]1l.011 %
DO .e.. Won e ? | 1 1,111 %
| nid cvee have win ... ? 5 3.333 %
Have had Wom ....? 1 1,111 %
Have the two boys° | 1. 1,111 % §
‘jWas the two boys won cel? 1 '1.111 %
 ,n° answef | 1 1.111 %




e The girls have a joblto do.
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subject verb group OEheéﬁggggis. nggzn" |
— 7777777777277 77 7447777787487 L4/ 4/,
bhtrd oTson . o SN
Have ouee oo? 59 | 65.55 %
others 14 - 15.54 %

¢an ‘be tabulated as follows :

V/7A : the correct one

From~those students answering incorrectly, their answers

answers

the nuumber

o percen-
of students tage
Does .... have ..s.? 3 3+333 % |
Did .... have ...? 2 2,222 % |
When have the girls? 1 1.111 % |
‘Are they have a job to do ? 1 1.111 %
Don't have the girls a job to do? 1 1.111 %
Who is the girl have ? 1 1.111 %
Does have the girls have ...? 1 1.111‘%
_'Dﬁes the girls to‘do have ? 1 1.111 %‘
 Was the girls a job to do? 1 1,111 %
Have the girls 2 1 1,111 %
‘Ajelfhe éirls‘h5ve‘a job to do 2 1. 1,111 %

III, Diractiogs : Translate the following sentemces into

English,

1. Mereka sudah makan slang.

Mereka sudsh makan siang.

the correct one |

the incorrect one

tThe number of

students - 13 77
the percen- :
tage .4k % 85.55 %
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a) From those 13 students answering correctly, they an-

swe:ed'as follows :

the number | NN

answers of students;perpemtage

+.s have eaten .., , , 6 6.666 %
«se have had ... 1 1,111 %
«s. already had ... 3 3.333 %
ees already ate ... 3 3.333 %

b) From those‘?? students answering incorrectly, their  an-

swers can be tabulated as follows

answers | the number § percentage
of students -
They‘have‘eat‘lunch. 2 1 ‘2.222 %
They have lunch. 26 28.886 %
They have eating lunch. 2 2.222 %
They had eat lunch, 1 1,111 %
| They are much. 1 1,111 %
We have lang. 1 1,111 %
They are have lunch. 1 1.111 %
They héve to lunch, 1 1.111 %
We have‘beéh dinner., 2 2.222 %
‘They have been lunch., 7 7.777 %
| They have after dinner, 1 1,111 %
‘They do lunch. 1 1,111 %
1 Th¢y was lunch, 1 1,111 %
They have.gocd luck, 1 1,111 %
They are éfter breakfast. 1 ‘l;lll %
They has eten lunch. 1 1.111 %
We have after lunch, 1 1,111 %
We have eéten breakfast. 1 1.111 %
They are éat lunch, | : 1 1,111 %
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the number

-answers of students percentage |
| Where are eten last morning? 1 1,111 %
Thej ate afternoon. 1 | 1.111 %
They are to ate in the after- -
. ' noon. 1 1.111 %
| They finished their lunch. 1 1.111 %
| They‘has;lunch. 1 1,111 %
They are have yet eating in, 1 1.111 %
They having lunch, 1 1,111 %
| They have ate. 1 1.111 %
| They have a dinnered. 1 1.111 %
| They have to ate lunch. 1 1.111 %
f They ate evening, 1 1,111 %
They have for lunch. 1 1,111 %
| They has lunch at noon., 1 1.111 %
{ They w were lunch. 1 1.111 %
| They has been was lunch. 1 1,111 %
‘They have hast was. 1 1.111 %
They have to lunch. 1 1.111 %
They have ate lunch. | 1 1,111 %
They had been dinner, 1 1.111‘%
Ho answer | 5 5.555 %

2. Ibu sudah pergi ke pasar kemarin pagi.

‘Ibu sudah pergi ke pasar kemafin'pagi

‘the correct one

| the incorrect one

the number of v "
‘ students 13 .77
the percentage ARTPY A % “85.55 %
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a) From those 13 students answering correctly, their answers

can be tabulated as follows :

answers ~o§hes§3§2§€s percentage

Mother wént to the market )
yesterday morning. : 10 11,11 %
*Mother has gone to the market. 3 3333 %

Note : *Mother has gone to the market.T

" The writer considers that sentence as one of the
correct answers because in this case he empha-

sizes on the form of Present Perfect tense.

b) From those 77 students answering incorrectly,‘their an-

swers can be seen in the following thble :

answers the number | percentage
of students |

coe have gone ,.. yesterday morn¥ R
ing ‘ 2 i 2.222 %

++. had gone the day befbr&. | '3 1 3.335 %

«+s had gone ... morning yes-

terday. | \ 1 1,111 %
... had gone ... yesterday morn- 5 .
- ing. 3 . 3333 %
++s has gone ,.. yesterday morn- N :
ing. ‘ 11 12,221 %
vss has gone ... last morning, 2 2,222 %
... have went .... 3 3.333 %
e+ had been going .... 1 1.111 %
| vos wont ... morning yesterday. 1 1,111 %
‘ day. : 1 1,111 %
‘,.. did went .... yesterday ‘ ? |
morning., 1 1 1,111 %

‘-boo has going LA v‘ l 1.111 %




N
]

answers

of students

the number

percehtage

,has to went ... morning yes-

, has to go ... in the morning

khas to go ese yesterday morn-

has to go ... in the morning.

had gone ... yesterday morning

~went ... last night,

have to go ... tomorrow morn-
' ing.

have to go .... last day.
have been going ceen

has been go ... last morning.
has g0 +..s

went ;.. last morning.

g0 .... last ﬁorning.

has wont ... last mérning.
want .... last morning.

had to go ... yestérday morn-
ing.

went ... morning yesterday.

has went ... last morning.
terday.

Yesterday,
has going ... yesterday.
have yet g01ing ... yesterday
‘ morning,
ing. -

has gone .... last morning.

went ... in the yesterday
‘ mornlng.

Went ees last morning.

has to go market yesterday.

are going in the marked in the
morning yesterday.

e T T e A R\ VI R T

=

e e e =

-

1,111 %
1,111 %
2.222 %
1.111 %
1.111 %
1.111
1,111

W R R

1.111
1,111

1,111
1.111
1,111 %

W R

1.111 %
1.111 %

1.111 %

1,111 %
1.111

LS -

1.111

1.111.
1.111
1.111
1.111

R OW W W

1,111 % |

1,111 %
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answers

‘the number
of students

‘percen-

tage

+++ has gone ... at morning yester-
' day. . ‘

eses had g0 ... in the morning yes-
: terday.

sso has to ... 1ast‘morniﬁg.
] oo« had go ,.. yesterday morning.

| «.. have gone to shop morning yes-
: terday.

i «o. have to go ..., yesterday morn-
' ing.,

+++ has been gbes ... morning Yes¥
tepday.

LN go o8 s yesterday.

«+« have been going +es yesterday
morning.

‘'ve. had been to go ... last morn-
. : ing.

! «s. hast went ... last morning.

i +.. has been g0 .Q. last morgens.
“ess had go ... yesterday.morning.
««+ have went ,.. tomorrow morning.

s+« has been going ... yesterday
: morning.,

| B0 answer

I i =

-1.111 %

1,111 %

1,111 %
1,111 % ¢
1.111 %

1.111 %

1.111

=

1.111
1.111

R

*°

1.111

xR

1.111 %
1.111 %
1,111 %
1.111 %
1.111 %

holilly %

Note : .... at the beginning = Mother

"

eee. in the middle

to the market




CHAPTER II
THE ERROR ANALYSIS

A. Preface :

| Talking about Present Perfect Tense, we camnot avoid -
_involving‘the existence of other tenses in English. Each
‘ténse‘in English has its own form. Thus, Present Perfect
Tense has also its own form. The form of the verb gr@up.
in Present Perfect Tense includes the auxiliary.verbbgégg
and its inflected form bas used for fhe third person sin-
gular, and the main verb in the form of past'participle;
Present Perfect Tense has a close relationship with

Simple Present Tense and‘Simple‘Past Tense bedause Pre-

. sent Perfect Tense expresses an action which began in the
past and which shows a relationship with the }present_

time,

The preseht Perfect Tense may express :

l. an action or state which began in the past
and which has continued up to and into the
present,

2. an action that happened at an unspecified

. time in the past.

3. an action or state which was repeated in

the past and which may be repeated in the
future, 3) ‘ ‘

The Present Perfect Tense that‘expresses an action
or state which began int the past and which bas continued
up to and into the present is usually accompanied by a
time expressién showing duration such as : since last
week, since 1960, since two days ago, since he was bornm,

for an hour, for three years, for a month, up to‘nbw, 80

far,4all day, all the week,

3) Dep. P & K. English for the SLTA, Structure Reference Book I
- RBora Karya Offset, Jakarta, 1979, page 99.
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When Peesent Perfect Tense expreéses an action that hap-
pened at an unspecified time in the past, it is not necessa -
rily aécompanied by any time expression mentioned above or by
any time expression showing an exact past time such as : yes-
terday, last week, two years ago, last night. However,exprese-
ions which do not indicate an exact time‘may be used such as

already, just, recently, this week, this mbrning.

Looking at the close relationship between Simple Past
Tense and Present Perfect Tense the writer predicts that In-
donesian learners will make errors in using time\expreésions,
éspecially when they‘trahslate Indonesian into English,

Fbr-some students, applying the auxiliary verdb have ‘and
has in the verb group of Present Perfect Tense is & problem.

So, the writer also presupposes that students will make er-

rors such as : *His students has come. *Their teacher have ex-

plained that,

Have or has as a full verb, such as a causative have, is

also a major problem for students espedially when they are

‘asked’to transform statements into negatives and interroga-

tives. For this reason, the writer also predicts that stu-
dents will make errors such‘as :
*My brother hasn't his bicycle mended,

*They haven't headaches often, ‘ ‘

*The merchaﬁts haven't lunch in that restaurants.

*Have you a cold?
*Has he luzich attone? ‘

| For the verb have that can function as both aux1¢1ary
and full verb, students usually con51der the verb as auxili -

ary because it is easier for them to form its negative and in-
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people's characteristics is that they do not want to have

a lingﬁistic burden., For example .

They have a good mother.

British English :
(-~) They haven't a good mother.

(?) Have they a gocd mother?

American Fnglish :

(~) They don't have a gocd mother,
- (?) Do they have a good mother?

He has a dog.

British English :"

(~) He basn't a dog.

(?) Has he a dog?
American_English :

(=) He doesn't have a dog.

- (?) Doesfhe have a dog?

Fdr sentenées‘like.those men£ioned above, mOSt‘students,
WHéther they consider the verb ggxg‘as.an:au#iliary‘or _as
a full‘ﬁerb, will change the statements into négatiVes and
interrogatives correctly. They do not have any problém.
However, if they afe faced with sentendes like ;‘ |

~ He has coffee with his breakfast.

| =~ They have difficulties getting here..

« I have a‘good time.

they will change those sentences incorrectly,., Most of them
think that the verb'gggﬁ in those sentences aré an auxili-
éry. Therefore,students will make errors such as ﬁ

*He hasn't coffee with his breakfast.

v*Has'he Cpffee with his breakfast?

*They haven't difficulties getting here.

fHave they difficulties getting here?




| verb group in Present Perfect fense, is also a maaor prob- .

7

*I haven't a good-time.

*Have T a good time°

Past part1c1ple, one of the elements that forms the

',1em for stuaents in learning Present Perfect Tense, s1nce‘

1n Indone31an there is no such form. And be51deﬂ, in Eng-r

llsh 1tself there are two forms of past particlple, name- :

1y : regular and . 1rregu1ar. Formlng/learnlng the past :

parthlple of 1rregular verbs is more dlfficult than the

| regular ones because there is no rule to form . the past

part1c1ple of regular verbs we usually aust ‘add —ed af— ‘

| ter thelr flrst forms, The second type of verb is | con~

'1_sidered,to be the easier one. Therefore, most  students

. one,

‘In addition to those problems, the form of the verb

group in Present Perfect Tense is also a magmr problem

for many students, They make errors in Present Perfect

Tense only because of thelr inablllty to form the verb

‘,group.

B.

1.|The first test

This chapter will discuss the errors maae by the stu=

‘dents 1n the test trled out end it will also try to find‘

what the sources of the difflcultles are,

The Analzsis of the'Errogs :

Directions_: Choose the correst answer to fill in
| blanks.  Give a cross on the let-
‘ter in front of the correct amswer.
1. Mr. Achmad sves USe L
'a. have leaved ¢. has leaved

" b. ‘have left ‘d. has left

,,,,, T Wt e

tend to‘generalize that all verbs belong to the fregular_“lt



"The‘correct‘answer is d. Three students chose a, ‘one _"
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. student chose b, and 27 students chose c as the an—

swer, Chooslng a and ¢ as the answer, is malnly Caused

“by the students' 1gnorance of the past particlple ofg ;

- ror, that is an error caused by the language 1tself[‘ 5

iy

the Verb leave; thus, it is called 1ntrallngual 4f"

‘w1thout belng influenced by other languages. For one

student who chose b as the answer, it is caused byf'

‘the ignoragce of rule restrlctions. She did not real— f‘” g

ize that 1f the subaect is the thlrd person singular,_-uw

she must take has as the auxillary.

Peter and Paul sese the answers.“ :
a. have finded ¢. has finded
b; have found o dy has found

MThe correct answer. is g. Fburteen students chose 2y

h‘ one student chose g, and 4 students chose d as theh

‘sanswer. Those 14 students made errors because they_lu

‘ did not know the past part1c1ple flnd This error o

~is also called 1ntrallngual er;o;. Those four ‘stu-
o dents made errors because of thelr ;ghorance gg rule

j‘restrlctlogs whereas, another student who chose g j "7

3.

made an error because she did not know both the pastd

is caused by both the language they are learhing and

‘ the 1gnorance of rule restrlctions.

My friend Anti, ..... to my last letter. i

[

a. have not replyed . has not replyed

b. have not replied  d. has not replied

‘The correct answer is d. Thirteen students chose Cs

pertiCiple 0f the verb flnd and the restrictlons of‘ |

‘using the auxiliary verb of haVe/gng Thus, her errorﬁﬁ'




c‘thlrteen others ChOSe b,

, two students chose a, vd‘oh

‘still one other student chose none of them. Those~

tflrst thlrteen students made errors because of thelrt

hlgnor”nce of rule restrlctlons. : They dld not know;‘c‘

that if a regular verb ends w1th ~1 in 1ts 1nf1ni '1hd:

‘”t1Ve, the ;1 must be change 1nto -1 first before‘;‘d_

‘-is added, = The second thlrteen students made errors“

1;because of their 1gnoeance of rule restrlctlons for

the aux1llary verb have / has The two students men-ochg7‘

tloned above made errors because of thelr 1gnorance

as mentloned above. Another studentawho chose _nothf '

ing didothat because of‘her‘ignorance‘of everything;

b

That hen sess lots of €ggs for these last two months._*'

a. have layed o S Ce has layed

‘bihﬂﬁlﬁd “ o mlmslmd

The correct answer is d. Thlrty—four students chose

Cy 27 students chose b, 8 students chose a, and two

.students chose nothlng. Those 34 students chooe
f‘perhaps because they overgenerallzed that ‘the verb

lay belongs to the regular one, thus, they added . -ed

for the past partlciple form, The 27 students chose b-
because they did not know the restrlctlons of uslng
the aux111ary verb h “gxg/has. The 8 students chose g
because they thought that the past part1c1ple form o
of day is _gzgg and they 1gnored the Tule restrlctions 1
of u31ng the aux111ary verb have / h __§ ' The other']“dp
two students did nothing because of thejr 1gn0rance -

of everythlng.




.”5.

The students ..... in the school-yard for ten mi-

hutes.

‘a. have played - ‘ c.’has played
b, have plaied‘ . dobas plaled

The correct answer is a. Seven. students chose b, ten

vstudents chose Sy and one student chose d‘ as the an-

- swer, The error made by those seven students 1s maln-

‘ 1y causcd by the lsnorance of rule restrlctlons. They{f g

~ did not realize that if an 1nf1n1t1ve of a regular

verb ends in =Y preceded by a vowel they dld not

: ;need to change the ;E 1nto -1 before they added -ed

..

60 students answering correctly and 95 other students{udu

mhe error made by those ten students is caused by

‘the 1gnorance of rule redtrrctlons too, but here 1t

‘1s about the restrlctlon of uslng the aux111ary verb ;1[”h
o uﬂélﬁ/_ggt The error made by one tudent is Caused by fﬂ :

‘the 1gnorunce of rule Tres trlctrons as done by thosetdj‘

 1? students.

Suharto, the pres1dent, “eue Indonesla for ten years.\
a.‘haVe 1ead9d - c. has 1eaded ; |

haVe led ; R d. has 1ed

' The correct answer is d The result of the students' f
'work for thls number 1s really : surpr1s1mg because“
,the number of students answerlno 1ncorrectly is. much ]f‘

more than those answering correctiy. There were only'x‘

‘answerlng 1ncorrect1y. From those 95 students‘u 8?_ﬂb‘u
chose c, two students chose b, flve s+udents chose a;f
and one student chose nothlng. The error made by |
those 87 students 1s caused by thenr 1gnorance of
the past part1c1ple of the verb 1ead, thus, they‘

overgenerallzed the past part1c1p1e of the irregular :
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| verb of 1ead as 1eaded The error made by the two

students is caused by the 1gnorance of rule restrlct—

ions of u51ng the auxiliary verb have / has. Those

two students did not realize that the subject of

that sentence is the third person smngular. The er~

‘ror made by thcse flve students is caused by over-

generallzatlon and 1gnorance of rule restrictions

as what has been done by those 89 studcnts . men-~

‘tloned above. The one student that answered nothlngv

: 5

is perhaps caused by her 1gnorance of everythlng a-

‘bout Fresent Pezfect Tense.

The second test

‘I..DireCtions ¢ Put the verb in brackets into Presentcv

' Perfect l'ense.
i, People (lie) on the grass enJoylng the sunshine
for an hour. |
After observ1ng the data (see chapter I), from‘
90 students doing the test only 21.1 % of them
answered corzectly, 78.9 % others ansfered irie
correctly, The verb group Lhey made can be seen

in the follow1ng llet 3

- have lain, the correctdone
~ has lain |
- has 1ied

-~ lied

~ have lied

- has iiying

- liying

; have liying‘

- 1ieying

-hasvlying

- lying
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- have lying

-~ have lie

- have 1y
- have been lying

- have been lieiing
?

'~ have been lie

- have been lied

- have'lay

- has lay

~ had lain

- lain

- had been lied
‘— have laid

- will lie

- = are laying

- was liying
- lies. |
- were lied

If we also look at the number of students making

those verb groups in chapter I, we can see that

‘there were 45 students out of 90 making the

wrong form of Pfesent Perfect Lense. This error

'is mainly caused'by ignorance of rule restrict-

ions. Those students did not understand cléarly

the form of Present Perfect Lenge, There“ were

13 étudents‘that used the auxiliary verb has iﬁ— :
stead ¢f have.That error is caused by the students'
ignorancé of rule restrictions. Twenty-four stﬁ-
dents made errors because of their ignorance Qf
the past participle of lie. Theré‘were 16 students

that thought that the past participle of lie in that
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sentence is lied, This is perhaps caused by the lan-
guage they are learning because in English thete is

also another verb of lie that has lied as its  past

-participle,

Our guide‘(lead) us through a series of caves.

With this question there were only three students an-
swering correctly. Eighty-seven students out of nine-

ty answered incorrectly. Their answers were as follows:

~ has led, the correct one

- led

- haVe led

- has leaded

- leaded

~ have leaded
- has lead

- to lead

- lead

- have lead

~ has le ading

= leading

- have leading
-~ have been led

- have been lead

'~ has beeh lead

- has been leading

- have been‘leading

- have been leaden

- has lied
- ‘has load

- load
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- have lied

~ las leaden‘
- has lean

e‘has leat

- = were leaded

- leades

é.was leading

' Z had been leading

- will lead

- hafe,leid‘

- had been led
Here, there were 30 students, 33.33 %,\usingkhaﬁe'

as the‘auxiliary‘Verb instead of has. This error

is caused\by ignorance ofurule e trittipﬂ‘5 they
they‘ignored‘the restrictione‘ofeusing‘fhe auxili-_
ary have /__5 ‘On thé other'part:45 Students,SO‘%,y
made errors because of their 1nab111ty to form thee
verb group in Present Perfect Tense, This error |

‘can also be caused by the ignorance of rule restrlct-

"ions, they ignored the restrlctlons,of the verb _

group in,Present Perfect Tense. Fiftyethreelstu-

dents failed in meking the past participle,of the

'verd lead;‘it can be caused by‘the‘language Being
ledrned in the aspect of 1gnordnce mf rule restrlct-i :

1ons. In addltlon to this, there were 18 students

- who made errors because they took leaded as’ the

| past participle of lead instead of ]ed ] Thus,thiskl~

3e

error is caused by the language belng learned too,

but @n the aspect of overgenerallzation.

The 1ndustr1al revolution (modlfy) the whole struc-

ture of Engllsh soclety. |
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 Out of 90 students, 19 students answered correatly and
‘71 others answered 1ncorrectly. The follOW1ng list
”shows their incorrect answers and the first line of

the list shows the correct answer,

- = has modified, the correct one
- modified ‘
- havé‘modifiéd‘
- héé modify
- to modify
- have'mbdify
- has modifying
- modifying
'; have modifying.'

- have been modified
; has been modified‘
-~ have béen modify
- have ‘been modifying
~ has been modifying
~ is modifying |
- m{_) dif ing
- have modifyed
R deifier

- havé modifi

- had been modified
- will modify
'; modi fying
- modifer
- ~‘m6difyed |

- have modifing
Q waé modifieng
‘;_modifies

- wWas modifier
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There were 25 students, 27.77 %, who took have for the

auxiliary‘of the verb group. This error is caused by

the ignorance of rule restrictions. Forty~three stu-
dants,'47,77 %, made errors just because they did mnot

know the form of the verb‘grouﬁ in Present Prefect

Tense. Their errors, therefore, are caused by their ig-

norance of rule restrictions. Twelve students, 13.353 %y
made errors in forming the past participle of modify.

' Two students made errors in forming the past participle

be

of modify + -ed. They just added the =ed ending without

changing the‘:x‘into;:l. These errors‘are also  caused

by the igno ance of rule restriction
The villagersf(thrust) spears into the tiger's stomach,
Finishing this sentence, 18 students, 20 %, answered
correctly and 72 étudents, 80 %, answered incorrectly.
‘The~an5wers can be seen in the follOwing list @

-~ have thrusf, the correct one |

- thrusf

-~has thrust

- have thrusted

= thrusted

~ has thrusted

- have thrusting
-‘th:usting

- are‘thruéting

. has thrusting

- have been thrust

- have been thrusted
- have been thrustiné

- throust
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has thrast
have thrusts
have thrbw '
were thrusted
was thrusting

is thrusting

‘will thrust

,héve threw

 Six students, 6,66 %, made errors in using the aux-

54

iliary verb, they used hag instead of have. It is
caused by ignorance of rule regtrigtiong. Forty-two

students, 46,66 %, made errors in forming the verb

group in Present Perfect Tense, Thus it is caused -

by the ignorance of rule réstrictions too. Thirty -

two students, 35.55 %, made errors in making the

past participle of the verb thrust, This is also in=-

cluded in intralingual grrors in the aspect of ig=

norance of rule restrictions.

Who (lay) the linoieum?

Of the 90 students finishing that sentence, twenty-

‘four of them answered #acorrectly and sixty-six othe

eérs answered incorrectly., Their answers were as fol=

[l

lows :

has laid, the correct dne

have laid, another possible correct answer

laid

‘has layed

layed
have layed
has lay
lay

havé lay
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I

‘haé laying
laying

have laying =
has been laid
‘has been layed
have been lay

has been léy

has been 1ayingk

have been laying

has liying
is laying

‘have lie

has lyying
have layen
has laied
‘is lying
is lay :
have laied

has lieying‘

Have who laid eqses.?

have lain
is laid
laid have
did have lay
lain

has lie

had been laid
will lay
was laying
“have led
had laid
were laying

is laying

48
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Of the right answers, 14 students took hag as the aux-
iliary verb and 10 students took have as the auxiliary
verb, ~These are acceptable, thus, there is no answer\

which‘is considered to be the wrong one, However,there

were still 44 students, 48.88 %, who made errors just

‘because they ignored the rule restrictions of the form

of the verb‘group~in Present Perfect Tense, Past par-
ticiple is also one of the aspects that made the stu-
dents fail in fOrming the verdb group in Present“perQ “

fect Tense. This is caused by ignorance of rule res -

trictions.  In this case there were 21 students,

23,33 %, who made errors,
(you, wind) up your watch?

The verb in this sentence is perhaps too difficult for
the students, so‘that only two students out of hinety
answered‘correctly. Others supplied various wrong an-
swers., The following were their answers : |

-~ Have you wound up your watch? (the correct one)

= Are you wind up your WatCh?

= You wind up your watch?

-~ Have you wind‘up your watch?

- Do ydu-winding up your watch?

- Are‘you winding up your watch?‘

- You winding up your watch?

- Have you winding up your ﬁatch?

- Have you winded up your watch?

- Had yéu Winded‘up your watch?

- Have you been winding up your watch?
- Have you been wind up your watch? |
-~ Have you been up your watch? (

~ You have wind up your watch?




I have wond up your watch?

How ha#e you wound up'your watch?
You have wond up your watch? |
I winded‘up'your‘watch?

Have you‘wohd‘up your watch?

You have wind up your watch?

Have you‘woun ﬁp your watch?

Did you hawe wond up your wétch?
Wind up your watch?

Did you have wound’up your watch?
You has wind up your watch?

You have wound up your watch?

"Have you wint up your watch?

Winded you up your watch?

You have winds up your watch?

Has your wind up your watch?

You have winded up your watch?
You have windiﬂg‘up your watch?
Have you wund up your watch? |
You have been ﬁind up your watch?
Are yoﬁ windéé up your watch?
You, wind‘up‘your watch? |

You wond up your watch?

Wind you were your watch?

Is you wound up your watdh?

You wihded up your watch?

You wound up ybur watch?.

Have you been winded upﬂyour Watch?
Will you wind up your watch?

Wind you up your watch?
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Of those various answers, the writer observed that there
were 50 students, 55.55 %, who made errors in the form ”
of Present Perfect Tense., These errors came into exist -
ence because of the students' ignorance of rule restrict-
ions. The‘error that most students élso made was the
form of past participlé.‘There were 58 students, 64.44 %,
that made errors in this éspect. This can be caused by

ignorance of rule restrictions,

The auxiliary verb used should be have for the subject
ou,however, there were two students who chOSe'Q§§ as
the auxiliary. Fiffy—three students, 58.88 %, chose gggg“
as the auxiliary, The thing that led the students into
errors is the other element that builds the verb group
in Present Perfect Tense. Besides, there were‘still’oth-
ér answers that did not really approach the correét an-
swer, This error is mainly céused by ﬁhe‘previoué bad
teéchins.‘
ITI. Directions :lMake‘the following‘senténces into negative,
1. My brother has his bicycle mended.
Most students thought that the hag in that sentence is
an auxiliary like that in the verb group of Preéent per=
foct Tense. Thus, there were only 7 students, 7.77 %,
answering correctly. Eighty-three students, 92.33 %, an-
swered inéorrectly and of the 83 students, 63 of them
thought that hag in that sehtence was an auxiliary; 20
others, 22.22 %, gave various wrong answers. The fol-

lowing were the answers :

My brother do not has his bicycle mended.

My brother does not has his bicycle mended.

My brother don't have his bicycle mended.

My brother didn't has his bicycle mended,




~ My brother is haven't his bicycle mended,

- My brother has didnit his bicycle mended,

‘= My brother hasn't haVe his bicycle mended,

~ My brother has don't his bicycle mended.
However errors like those mentioned above are in fact
approaching the target language system.'Their approx=

imative system was mainly caused by the previous

“teaching and learning,

I have my bicycle cleaned by the time he has breakfast,

As in number 1 above; most students ﬁade errors in

maklng that sentence negatlve because they thought

that have in that seéntence was an auxiliary verb,

Thus, only 19 students, 21.11‘%, answered correct-

1y; 59 students, 65.55 %, considered that have in

that sentence was an auxiliary, and 12 others gave

various wrong answers. Their answers are listed be-

low : _ |

= I have did not my bicycle cleaned:by the time he has
breakfast, |

L

I have my bicycle cleaned by the time he has breakfast,

“« I not have my bicycle cleaned by the time he hag break-
fast,

I have doesn't ny bicycle cleaned by the time he has
breakfast, ‘

I did not have my blcycle cleaned by the tlme he has
breakfast

Most students thought that the have in that sentence was

an auxiliary, This happened because it is eas 8y to  make

- the negative, The statement "People do not want to have

_‘a linguistic burden" thus comes into the fact By doing

so the students' error is caused by overgenerallzatlon.
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We have him pdlishing shoes,

- Changing that sentence into negative, out of 90 stu-

dents only 28 of them did it correctly; 62 others did

it incbrrectly. Amohg those 62 students answering in~-
correctly, 57 of them thought that the have in that
sentence was an auxiliary; thus, this error.is mainly
by overgeneralization., Five other students did as fol-
lows : |
- We have does not him polishing shoes.
- We is haven him polishing shoes.
- We didn't have him‘pélishing Shoes.
- We do have not him polishing shoes.

Those errors appeéréd bécause‘of thé previous bad

teaching or learning.
The teacher has the students write the report,

The result of the students' work shows that 1% students
anSWered correctly and 7?7 others answered incorrectly.
Out of thQse 7?7 students, 59 of them thought that the
has in that sentence was an éuxiliary. This error was
caused by overgeneralization. Eighteen other students
did as follows :

~ The teacher don't has the students write the report.

- The teacher doesn't has the students write the report.

- The teacher don't has the students write the report.

- The teacher didn't has the students write the report.

- The teacher hgs fhe students write aie havén the re- .
port.

~ The teacher dbes not the students write the report.

- The teacher has don't the students write the report.

Errors like those appeared in the students' work  be-

cavse the operation of the teaching of Simple Present
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Tense, w1th the thlrd person singular subgect and other‘

‘subgects, Slmple Past Tense and Present Perfect Tense

~might have taken place 1n a short time, thus, the pre-

5.

V1ous has affected the new one.

‘They‘have headaches often.

FOr\most‘Studentsﬁthe writervobserved have in that‘sen-k

tence was also cons1dered as an aux111ary. Only 25 stu-,‘

dents, 2? 77 A, knew that have in that sentence vas 1n—
cluded 1n dynamlc senses have,

Dynamlc senses of have can mean recelve, take,‘
experience, etc, “Such have in both - American -
'and Brlglsh English normally has do~periphras-

"Slxtyuflve students changed the sentence 1nto negatlve“

‘kJnCOFrPCtlJ. Among those 65 students, 61 of them s67. /7%,9

ChLEiCEret tne LeVE as &l auziliary; nnere‘ ‘fo‘r sther

students gave answers as follows :

e They dldn't have headaches often.[x

- They do not headaches often,

’—‘They‘are haven headaches often.

These errors mlght be Caused by the preV1ous bad teach-

- ing of to_ be, 31mple Preset and Slnple Past Tense. The“

6.

‘cb‘teachlng of those three subgects mlght have taken only
a short perlod of tlme between one another~ thus, ‘it‘r

‘causes 1nterference.
‘The‘merchants haVeslunCh in that restaurant

: Have in that sentence is exactly the sagme as the verb

- eat, consequently that verb needs do~per1phrasls to make

negatlve and 1nterrogat1ve both in Amerlcan and Brltlsh ‘

"bngllsh However, the fact is that only 19 students,

21.11 %, thought that way, 71 other students, 78.88 %,

4) Guirk, R., Greenbaum, S., Leech, G.,, and Svartv1k J.

A _Grammar of Contemporary English London Group
e Ltd., London, 19?9, page 80.
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“thouvht of other ways.;olxty -two students, 684 88 e out“
‘of those 71 students thought that the have in that sen-

tence was an aux111ary. That was a very common error -

made by. students.‘Thls is caused by overgenerallsatlon.

: Nlne other students thought that have in- that sentence

was also a full verb ‘however, they failed in maklng

the correct negatlve form. The follow1ng were their an-
swers H | k

- The merchantS'doesn't have lunch in that reStaurant

The merchants dldn t have lunch in that restaurant.

3

The merchants dldn t has tunch in that restaurant

‘Such‘errors‘are pOS“lbly caused by the 1nfluence of bad

“teachlng beiore‘

Directlon§ . Make the follow1ng sentences into 1nterro-

1

gatlves.

. He has toLarrive‘at~seVen a.m,

- Have to or has to in that sentence is called a semi-aux-

5111ary because that has can functlon as an auXLllary and

‘a full verb as well Thus, whatever the students thOUéht

of that has, as an aux111ary or as a full verb, they

,w0u1d‘be‘right. It was not surpr¢smng that there were 61

students, 67.77 %;.answerlng correctly. Out of those 61

tStudentskanSWering correctly, 56 of them thought_that‘

hag in that sentence was an auxiliary and‘only 5‘students

thought that the‘has was a full‘verb’ Why is it so? It is
‘because cons1dering has as an auxiliary will be 31mpler

kto make the 1nterr0gat1ve than con51der1ng the has as a

full verb With that questlon, there were only d9 stu'—

dents, 32 22 %y who made errors. Thelr sentences are

cllsted bclow :

= Das’ he has to arrlve at seven a, m..

Does he to arrlve at seven a.m..

¥

Has to he arrlve at seven a,m.?
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« Do he has to arrive at sew¥en a.m.?

= Did he has to arrive at seven\a.m.?

- What time has he to arrive %
- Has he arrive at seven a.m.?

-~ Has not he to arrive at seven a.m.?

- Does have he to arrlve at seven e m.,

- What tlme he atrrlve‘>

- Have he to arrive at seven a.,m.?

‘-‘Has-he‘arrived at seven a.m.?

. boes he to arrive'at‘seVen‘a;m.2
- Hes‘he have to arrive at seven a.m.?
‘ ~‘Was he to arxlue at seven a.m.?

- Has he to arrlves at seven a.m,?

- Has he to arriving at seven a.m.?

Tthe errors show-that the students were confﬁsed‘because of
the 1nterference between each teaching 1tem. It probably hag
pened that before the students really mastered the materlal

taught the teachers hurxledly went on teachlng other 1tems.

The owner also has a car.

“Has in that sentence is an ordinary verb meaning possess.

The-negatiﬁe\and interrogatiVe can be formed in either of

‘the two ways. With this questlon there 54 ctudents who an-.
‘swered correctly, L2 of them took the Engllshman s style,
that is w1thout u51ng the do-perlphra51s, whlle twelve oth—

ers took the American's, with do- perlphrasls. Thlrty—s1x

other students answered incorrectly. The follow1ng were
their incorrect sentences : |

- Do the owner also has a car?

- Does the‘oﬁner also has a car?

~ Do the owner also have a car?
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- Did the owner also hés a car ?

- Did the owner aism have a car ?
- It has the owner also 2

- Is the owner also has a car ?

- Has a car also the owner?

= Has a car the owner also?

- Has the owner also has a‘car?

- Does the owner also a car?
-.Have the owner also a éar‘?

- Why owner also has a car?

- Does have‘the owner also a car ?

~ Do the owner has also a car ?

~ Has also the owner a car ?

- VWas the owner also has a car %
~ lHas the owner ?

~ las the owner‘élso had a car 2

Those 36 students made such errors‘bécause they did not

" have any correct pattern of how to form interrogative in

their mind., This is probably caused by the carelessness

of both the teachers and the students when they taught

and learned Simple Present Tense.
The two boys have won the prize.

Have in that sentence is immediately followed by past par-

ticiple, so that have is an auxiliary. Since the have is

~an auxiliary, most students answered correctly, Fifty-four

students, 60 %, answered correctly, 36 others, 40 %, did

it incorrectly. The following were their answers :

‘ Does the two boys have won the prize?

Do the two boys have won the prize?

- Have to boys have won the prize?

Are they have won the prize?
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- Héve the two‘boys the prize?

- What the‘two Boys have won?

‘Have won the‘tWO‘boys the prize?:
= Did have the two boys win the prize?
- How the boys have won the prize? - |
- Did the two boyé have won the prize?
- Have the twolboys win the prize? |
- Do the‘two bbys have win thé prize ?
- Did the two boys have win the prize?
- Have‘the two boys‘had won the pfize?
+ Have the two boys? |

‘ﬂ-‘Was the two boys won the prize?

of those errors we can see that the students in making
the senténce iﬁto intérrogatife were still influénced
by their previous knowiédge, that is,  Simple Present
and Simple Past lense. Those errors appeared because
when the teachers taught Present Perfect Tense to the»
students; their students had not mastered the .Simple
Present and the Simple Past Tense, Therefore, the source
of the errors were from English itselt without  being
influenced byaéﬁher 1anguéges. |

4. The girls have a job to do.

This construction : Subject + have +‘0bje¢t + to
+ infinitive has identical characteristics with

that of Subject + have to + infinitive wmeaning
must, obligation, necessity, firm prediction. 5)

Therefore, students who thought that have in that sen-
tence was a full verb and those who thought that ﬂgﬁg‘
in that sentence was an auxiliary, both of them an-

swered correctly. However, it should be hoted that those

5) Richard Noss, English Language Center Banghkok. The Verb
vhave! : American and British Usage. English Teacﬁing‘
Forum, Volume X, November - December 1972, Number &,
page 14 ~ 18. : ‘




11T,

29

who considered the have in that sentence as an auxiliary,
the have should be follbwed by the verb got. Thus the in-

terrogative should become : Have the girls got a job to

do? With this qﬁestion; there were 76 students who  an-
swered- correctly. Fifnynine students cqnsidered the have
as an auxiliary and 17 others considered the have as a
full‘verb. Fourteen students answered incorrectly. The
folldwing‘were their sentences : |

- Does the girls have a job to do’?b

~ Did the girls have a job to do ?

L VWhen have the girls ? -

- Rre they have a job to do ?

~ Don't have the girls a job to do ?

- Whd is the girl have 2

~ Does have the girls have a job to do ?

~ Does the girls tb do have a job 2 |

- Vas the girls a job to do ?

- Have the girls 2

- Are the girls have a job to do ?

Observing those wrong answers, the wrlter 0uncluded that
the students d1d not understand the characterlstlcs of
the Simple Present Tense sentences; thus,‘they wrote :

Does, Did, Are, Don't, Was, and even When and Who instead

of just writing Do. These are probably caused by the pre-

vious bad teaching or learning especially when they

‘talked about the Simple Present Tense.‘

Directions : Translate the following sentences into Ing-

lish.

1. Mereka sudah makan siang.

There were only 13 students, 1l4.44 %, who answered or




translated correctly. Their translations were as
lows :

~ They have eaten lunch,

They have had lunch,

They already had lunch,

‘They already ate lunch.

Seventy-seven other students, 85.55 %, translated
correctly in various translations. Their translations
as follo§5':

- They are much lunéh.

-Wehmelm@.‘

- They have‘eat lunch,

- They have lunch,

- They have eating'lunch.

- Théyjhad eat lunch.

= They ére have lunch.

= They have to iunch.
- e ha?e‘lunch.
- = They have been'dinner.

- Théy have been‘lunch;

~ They ha&e been.

- They have‘after dinner.

~ They do lunch,

- They was lunch,

- They have good luck,

- They are after breakfast.

- Thej has eteh. |

- We have after lunch,

- We have eaten breakfast.

- They are eat lunch,

- Where are eten lazt morning.

w6

‘fol-

in-

‘were
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~ They ate afterncon;  
- They are to até afternoon in the afternoon.
-~ They finished‘their iunch.
- They has lunch,
- The& are have‘yét eating in.‘
-~ They having lunch,
’-‘Tﬁey have ate,
- They have a‘dinnered.
= They have to ate_luhch.
- They ate‘evening.
- Thej have for lunch.
< They has lunch at noon.
- They have bemn lunch,
~~They were lunch.
~ They has been was lunch,
 ~‘They have hast was lunch.
- They have to lunch;

- They‘had‘been dinner,
The errors above lie in the vegb group, in the choice of
the word ‘lunch', and in others. Seventy-ome students made er-

rors in the verb group, and this appeared because of their ig-

norance of rule restrictions. Most students did not master the

- restrictions of the verb group form in Present Perfect Tense,

Some other students made errors because they failed in  pro=-

ducing the translation of the word makan siang, they produced

dinner, breakfast, at noon, evening, afternoon instead of

lunch. These errors may be caused by their inability to differ-

~enciate between the meaning of those words; thus such errors

are called semantic errors.
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Ibu sudah pergi ke pasar kemarin pagi.

The number of students translating correctly was the same.

as that in‘the‘previous question, 13 students. Their an-

‘swers were as follows :

- Mother went to market yesterday morning.

- Mother has gone to market.* (see page 31)

Seventy~semen other students translated incorrectly. The

following were their answers ;

Mother

Mother
Mother
Mother

Mother
Mother
Mother
Mother
Moﬁher
Mother

Mother

Mother

Mother
‘Mother

Mother
Mother
Mother
Mothef
Mother
Mother

had gone to market the day beforé.

had gone-td market yesterday morhipg,

had gone to market last morning.

has gonekto the market yesterday morning.
has gone to market last morning,

have went to market yeSterday-mornihg.
had been going to the market yesterday morning. |
wont to market morning yesterday,

had go morning yesterday.

did Went to market yesterday.

has going to market yesterday morning.

have to go to the market tomdrrow‘morning;
have to g0 to the market last day.

have been gomng to maxket yesterday mornlng.
has been go to market last morning.

has go to the market yesterday«moenlng.

went to market‘lasf morning,

go to market last morning.

has‘woﬁt td.market‘lésf morning.

want to market last morhihg.

I§~mother~had to go to the market yesterday morning.




‘ Mother went to the ﬁarket morning yesterday., =

Mother has went to the market last morning.

Mother has to went to the market morning yesterday.
Mother has to go to the ﬁarket in the morning yesterday.,
Mother has goihg to the market yesterday.

Mother havé yet going to the market yesterday morning.
Mother has to go to the market yesterday morning.
Mother has gone to:market lasy morning.

Mother has to go to the market in the morning.

Mother went to the markét in‘the yesterday morning.
‘Mother went to,the‘market last morning.

Mothér bas to go.mgrket yesterday.

Mother had goné to the market yesterday morning.

‘My mother are going in the marked in the moriaing yes-
terday. |
Mother went to the market last hight.‘

= Mother has gone to the market at mbrning yesterday.

- Mother had go to the market in the mdrning yesterday,

. Mother has to go to market last morning.

Moﬁher had go to the market yeuterday.mofning.

Mother have'gone td‘shop mdrning yesterday.

- Mother have to go to the market jesterday‘morning.

- Mother has been goesd to market morning yesterday.
Mother go to fhe market Yesterday, |

Mother have been going to the market yesterday morning.
Mother had been to go to the market last morning.
Mother hast went to the market last morming.

My‘mother has been go to the market last‘mowgen.
Mother had go to the mérket yesterday morning,

Mother have went to mérket tomoerow morning.

My mother has been going to the market yesterday morn-

ing.
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Those errors show ‘that the students. did not know the dif-
ference between Slmple Past lense and Present Perfect iense in
their verb forms and thelr relatlonship with thelr adverbs of %
time. Thls, in some way, is caused by the influence of Indone-
81an because in Indonesian the sentenge "Ibu sudah pergi ke pa-
sar kemarin pagl" is aCCeptable and is considered to be a good
sentence. Thus, students of Indone51a trled to apply that rule

in thelr language being 1earned. Such error is called interlan~

ann the otner‘asPect; students made errors because they‘
cauld not translate‘the‘time expression of ‘'kemarin pagi' into
‘EnglishVCOrrectly.cFourteen students translated that expression
ingo last morning instedd of xegterdax mornlng. There were al—
so fourteen students translatlng that expre531on 1nto mornlng
xesterdax. Besldes, the errors were also caused by the inters
ference with other foreign language learnlng, namely Germdn :
has (English) = hast (German) ; morning (&nglish) = morgens-
‘(German). ‘ | |

Most errors stated in the data above lle in the verb group

and these errors must be caused by the 1nfluence of other teach~
ing of tenses, The wrlter also found ten students maklng errors

in choosing the auxiliary verb for Present Perfect 'ense; they

teOk have instead of has. Such an'errer is caused'by the ignor—

ance of rule restrictions.
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CHAPTER III
HE REMEDIAL TEACHING

A.‘Preface

To

portant

begin this chapter the writer thinks that it is im=-

to explain whét "Remedial Teaching"kis. After look-

~ing at the learners! errOrs,~teacherS;must‘try to remedy

follows

Most teachers become very concerned with the teaching

of

the learners' errors by using other teaching techniques in =
| . order that the learhers really_understand the subject.

I. S. P. Nation in his book entitled Language Teaching

| - Technigues further explain the term "Remedial Teaching" as

structure some time after the first year of Eng-

; lish when they see that the learners make many mig-
x ‘ - takes in spoken and written work. Structure exercises
i ‘ are used as a means of getting the learners to cor-
: - rect these mistakes, This type of work 1is often

called remedial work because it is to provide a reme-

. o dy

In‘

or cure for the learners!' mistzkes. 6)

addition to that explanation he also gives the des-

cription for carrying out the remedial work. He states

six steps for this, namely :

1.

24

3.

The mistakes that thelearmers make should be found
and listed. S '

From that list the teacher should choose a limited
number of mistakes or types of mistakes for rene-
dial work. ‘ o
The teacher should carefully study each mistake he
has chosen, try to find the reasons why the

learners meke the mistake, and look at ways for re-

- Leaching using new techniques and a new way of look

.

ing at the problem. Using new techniques is very
important because there is no value in using tech-
niques that have already been unsuccessful in deal-
ing with a particular problem, ‘ -

The teacher should decide whether the remedial work

should be directed towards spoken or writtem  Eng-

lish or both,

6) Nation,

I.S.P. Lan uage Yeaching Technigues. IKIP Yogyakar-
ta, 1974, page B . - ‘ : ‘ |




5. The teachér should choose‘or‘make remedialrmateri—
al for the mistakes he has chosen. ‘

6o The teacher should see that there is a large num-
ber of repeated opportunities for the learmners to.
give their attention to the mistakes that the
teacher has chosen., )

It is necessary for the readers to know that the wrlter

aims at glVlng the remedlal teaching to be directed towards

-written English in particular and towards spoken Lngllsh in.

some way. .
Since most of the learners! errors are caused by the
target language itself, 1gnorance of rule restrlctlons, and

overgenerallzatlon in particular, it is necessary to = give

them some sets of‘rules dealing with the mistakes made by

them on the'subject : Present Perfoct‘Temse and the verb

bhave, Further, since that subject has a close relatlonshlp

’Wlth olmple Present Pense, 51mple Past Tense dealing with

the forms of the verbs in positive, negative, and interro -
gative sentences, the remedial teaching w111 also talk a-
bout those. The form of the verbs, mainly the past parti -
ciple, will also be discussed in this chapter. The"meanlng
of actions expressed in Present Ferfect Tense is also nec-

essarily taught., The writer also explalns the relationship

'between the use of verbs in Present ﬁerfect Tense, for ine’

stance, and ‘their adverbs of time, since he also finds some
errors in those caused by the target language or interfer-
ence with the learners' own language.

It 1s also necessary to give a lot of practice to the
learners because language is a hablt, espe01ally the spoken
language. Native speakers of English can sptak English cor--a

rectly without learnlng that language formally, That fact

‘proves that a hablt or a lot of practice is necessary in

7)

Ibld., page 68 ~ 69,
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learning a ianguage.
Some students were élso‘still facing difficulties in

using the auxiliary verb of have br‘has‘in Present Perfect

Tense, thus the writer thinks that it is better to give a
lot of practice on that when they arejleafning Simple Pre¥

sent Tense.

‘Carrying out the Remedial Teaching

1. Teaching the Simple Fresent Tense

Téachers teach Simple Present Tense in order‘to‘léad

the learners to get used to usiﬁg the (auxiliary) verb
‘of have or has correctly. The teachers givé the gene -~
‘ral rﬁlé of Simple Present Tehse as follows : o

! verb !

Singular : 1. I ! work { every morning.
~2.‘Yoq‘! work ! every morﬁing.
) 3, He v! works! every morning.

plural : 1. We ! work ! every morning. .
b o you ! work ! every morning.
3. They! work ! every morning.

Note :

1. Verbs other than be have two forms in the Simplé
Present Tense : a simple form and an -s form.

2. The =g form is used wiih the third_person singu~
lar subjects : he, she; it, ‘John, Mary, the bdok,
etc., |

The practice :

1. Make senteﬂdes as in the example, Be sure that

you always use the simple form of the verb.

They work every day.

(study) - They study every day.




68

(write) - Théyrwrite‘every'day.

4. 80

c. eat

~d. take a bath

e

e. walk

Continue the first‘practice by chahging the subject.

They work every day.

(1) = = I work every day.

(You) - You Work every day.

a. We
b. They

C, You and. T

d. John and You .

‘e, The farmers

Continue the first and the second practice, but in

this practice you must use the =g form of the verb.

He works every aftermnoon.

(sleep) - He sleeps every afternoon.

(take a bath)-He takes a bath every afternoon.'

‘a.. eat

b. sweep the floor

C. COme

. d, leave me

e. meet us

Continue the third practice by changing the subject,

He works every afternoon.

(She) - She works every afternoon,

(Ali) - Ali works every afternoon.
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e

b,

Co
d.

€.

Use the corr?ct‘verb of Simple Present Tense :

69

Mother
Father

Thét officer
‘The driver

Aminah

ot
O

‘simple form or the -s form,

I need a pen.

(He)‘ - He needs a pen.

(We) =~ We need a pen.,

a.
b.

Ce

d.

Ee

h,
Do
of

Tuti
Tuti and I

-They

She

You

Father

He and éhe“

The teachers

the following exercise by using the correct form

verbs given and by changing the subject.

Budi comes_every evening.

(léarn) - Budi learns every evening.

(we) =~ We learn every eveming,

ae
b.
C.

d.

€.

f.

g.

‘(speak) = We speak every eveniug.

She

cook

Mother and I‘
Sing

the bird
people

drink

. his cat
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i. climb the wall
j. fall |

In written form, the endiﬁg ~s has more allomorphs

' namely :

1. It is‘ﬁritten :gg'when the verbs end in %es, -sh, =ch,
i&, and =g; for example : |
‘kiss - kisseé
wash - washes

watches

watch
mix - mixes
g0 ~ goes |
2s Verbs end in -y following a consonant,‘change_the -y
~into =i and add ;gg; for example : ‘

try - tries

reply replies
cry =~ cries

because in these two verbs thévzxvis

but play plays

i
say -~ says i preceded by a vowel not a consonant.
The verb have is a simple form in Simple Present Tense.
The =s_form of that verb is not *haves, but hag., Since the

formation of the  -s_form of that verb is different from

others, not just of adding ~g at the end of the verb, these

two forms of have, have and has, here often make the learners

confused in using them and as far as they do not understand

these two forms well, sometimes‘they cannot differenciate

between them. As a result they make mistakes such as :

*People has lain on the grass enjoying the sunshine for
an hour,

*¥Our guide have led us ‘through a series of caves.

*The industrial révolution have modified the‘whole'struqu

ture of English society.
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To prevent such mistakes, the writer tells the learners

that have form is used when the subject is the first and se-

cond person singular and plural and the third person plural,

whereas has form is used when the subject is the‘third'person

singular. The following diagrams‘may help the learners.

I N He N

| P o

You . ! She H

‘ i !
We dhave It > has

| 1

They E John 2

' 1 . s

) A dog N

L}

John and Mary/

Giving practice is also one way of solving the problem. The

practice can be carried out as follows :

l.vChangé the subject of the following sentence usihg the .
words Supplied;
We have coffee hére at night.
(they) - They have coffee here at night.
a. I |
b. You
c. You and I
d, The drivers
e. Men
2, Continue the first practice with the‘fdlibwing sentence.
Mp. Miller has a problem.
(Yono) - Yono has a problem.'
a. He
b, His sister
c. She
d, The postman
e, Her husbanad

3, Change the subject of the following sentence using the
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words given‘and‘change the verb form also if neceésary.

Anto has breakfast at sig-thirty.
(we) - We have breakfast at six-thirty,
a. He

b. John and Mary

c. They |

d. Mr, Allen

€. she

f. Thé:students

8. Mr. Nelson

h. You

i. I

If the learners have really mastered the have / hag form,

when they are learning the Simple Present Tense, the writer

does

dot think that they will make mistakes in using the aux-

1lliary verb have/has when they learn the Present Perfect Tense.

deal

Look at the other errors made by the learners that still

with the verb have in forming negative and interrogative,

*They héve not headaches often.

* They are haven headaches often,

“ *The merchants goesn't have lunch in that restaurant

*The merchants didn't has lunch in that restaurant

*Do he has to arrlve at seven a. m. ?

*Has to he arrive at seven a.m.?

*Does have he to arrive at seven a,m,?

*I5 the owner also has a car?
*Do the owner has also a car?

*Does the girls bave also a JOb to do?

*Are the girls have a job to do°
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There are still many other errors that we ¢an look at in

the previous chapter, that are mainly caused by the ignorance

of rule reotrlctlons. To avoid the Same errors, teachers must
give the rule of formlng negative and interrogative sentences
dealing with Simple Present <Yense and besides, a lot of-prac—
tice must also be given. Thelgeneral rule of forming negative
sentences is as follows :‘

Statement : They speak English well.

Negative : They Qg,not speak English well,

(They don't speak English well.)

Statement : He‘beging‘the class at seven,
Negative : He does not begin the class at seven.
(He doeun't begln the class at seven. )

Addltlonal examples :

I do not‘sleep well,

a. 1 sleep well;

‘b. You swim every Sunday. - You do nof swim every Sunday,

c., It ma@g him cry. It does not mske him cry.

4. Tom knows the answer. - Tom does not know the answer.

From those examples the learners are expected to be able
to draw a conclusion that to make the negative'form from such
sentences the word do or does is used before adding the neg-

ation word pot. Does is used if the subject is the third

s0n singglar‘; whereas do 1s used if the subject is the othér;
persons, It is also necessary to note that if the word dg or
does is already used in a sentence, the main verb must be in

a simple form, that is the 1nf1n1t1ve without to.

The practice ;.

1. Change the following sentences into negative. Use go

for the helping verb.
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John and Mary study‘Engliéh.‘-‘John and Mary do not stu -
B | | dy English, |

a. They teach Spanish.

b, I pmactice football every afternoon.

c. We understand the lesson.

d. You leave me.

e. Mr. and Mrs. Allen walk together.

2. Continge the first practice, but usé does for‘thé helping
verb, ‘ |
He works in the mornihg. - He does not wcgk in the morning. R
as Mr. Miller sings well, | : | |
b, The teaclier pronoﬁnces the words correctly.
‘¢. She feels sick. |
d. The cét‘climbs the tree,

e; It falls every time.

3. Finish also the following‘practice, but use the‘borréct

ﬁelping verb, do or does.

a. lle wants a hat.

‘b They take a nap.

c. Mother aﬁd I cut‘meat every day.
d. We see him, fie

e. You hit the dog.

f; Helga.eats rice;‘ | |

' g. The sate seller siﬁs all the time,
h, The plants grow well.

4, Continue the third practice, but fhe verb used in the fol-
lowing sentences is have and remember that the -§ form of
have is has. i |
a. The merghants have lunch in that restaﬁr&nt.

*b, They have heafaches often.




75‘t'~‘

f - *c, She has a cold.
L ‘ d. Mrs. Brown has a good time.‘.
*e.‘They have chicken for dinner.
*f, He has to arrive at seven a,m,
- ~ *g. I still have all the bills to pay.
*h, They have him poiishing shoes,
i, They have him\polish shoes,
j. The men has his hair cut.
*k. The girls have a job to do.
l. The students have the exerc1se done on time.
*m, I have my coat off,

.o ne We have our instruments in the truck.

- All the sentences in practice 4 can be changed 1nto neg-

atlve by using do or does as the helping verb but the sen-

tences with asterlsk (*) have another variation, namely by
using have or has as the helping verb and followed by the
verb got, - Thls last point will not be discussed in thls

‘thesis because it will glve more burden to SMA students.

After the learners master haw to fofm negative from such
sentences, the teacher can 80 on teaching how to form the in—‘
| | terrogative by giving the rulr and practlce. The rule of form-
£ ing interrogative sentences can be stated as inverting the
B subject and its helping verb, do / does or have / has The
Gollowing sentences are the examples.
 Statement : They speak English well,
Interrogative : Do they speak English well?
 Statement : He begins . the class at seven.

Interrogative : Does he begin the class at seven? A
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| Additional examples P

1. a. I sleep well, B - Do I gsleep well?
b. You ewim every Sunday. - Do you swim every Sunday?
c. We eat.luneh at one, - Do we eat lunch at one?
d. They take a taxi. | - - Do they take a taxi?
2.‘a; He reads a novel. - Does he read a ﬁovel?

b, She watches television, Does she watch television?

‘¢, it makes him cry. - Does it mske him cry?

d, Tom knows the answer. - Does Tom know the answer?
After the learners master,the‘rule of forming negative and’
looking at the examples of forming interrogative above the
teacher lets the learners draw the conclusion of forming in-

‘ terrogatlve. 1t is expected that the learners will meet  the

follow1ng statement : : ]
“”QQ / does is put at the beginning of a‘sentence, pref
ceding the subject, and the simple form of verb, infini-

tive without to, is put after the subject."
The practice :

1. Change the following sentences into interrogative. Use do

for the‘helping verb,

John and Mary study English. - Do John ahd,Mary‘ggggx Eng-
| L lish?
a. They teach Spanish,
bs I practice football every efternoon.
c; We understand the lesson. |
d. You leave me,

e, Mr. and Mrs. Allen walk together.

2. Continue the first practice, but use does for the helping

- verb.

He wotks in the morning. - Does he work in the morning?




a. Mr. Miller sings well,

b. The teacher pronouncés thekword correctly;

c. She feels sick.
d. The cat climbs thevtree.

e, It falls every tinme,

Finish also the following practice, but use the
helping verb, do or does.
a, He wants a hat.

b, They take a nap.

¢o Mdther and I cut'meat‘every day.

d. We see him.

~ e. You hit the dog.

.

f. Helga eats rice,

g. The sate seller sits all the time.
h, The plants grdw‘well. |

lowing sentences is have / has and remember that

form of have is has.,

a. He has to arrive at seven a.m.

b. The owner also has a car.

c. The girls have a job to do.

&“The‘merchants have lunch in that‘restaﬁrant.
€. They have headaches often. |

f. Mrs. Brown has a good time.

g; They have chiéken for dinner,

h. You still have all the bills to pay.

i. They have him polishing shoes.

j.»They have him polish shoes.

‘k, The man has his haip cut,

1. The students have the exercise done on time.
m. I have my coat off.

m. We have our instruments in the truck.
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correct

Continue the third practice, but the Verb used in the fol-

the -g




2.} Teaching the‘Simple‘Past Tense

78
For the verb have/has that means possess, the have/has cén
function as an auxiliary,‘British English, and it‘can also func-
tion as a full vefb; thus to form the negative or interrogative
needs do/does as the helping verb. To this statement Quirk, R.,
Greenbaum, S., Leech, G., and Svartvik, J.‘ih their bdoE‘ en-
titled A Grammar of Contemporary English.also state that :

There is also a transitive lexical verb HAVE which
in some uses can be sonstructed either as an aux-
iliary, without do-perphrasks, or as a lexical
verb with do-periphrasis. In the stative sense of
possession HAVE is often, especially in = British

English, constructed as an auxiliary. American
English prefers the do-periphrasis construction
| | ¢ haven't ‘

1

! - ! any books.  8)
% don't have ‘ '

Further Leech, G. and his friends also state that :

There is also the informal HAVE GOT, where HAVE is
constructed as an auxiliary, which is frequently
preferred especially in British English, as an al-
ternative to HAVE. It is particularly common in
negative and interrogative sentences. As a further
alternative for expressing negation, we have the
negative determiner no : :

I have no books. - \
I haven't got any books. 9)

Teaching the Simple Past Tense to the learners in order
that they will not make further mistskes such as :

*Mother hag gone to market Yesterday morning.

Such mistakes causes confusion in learning Present Perfect Tense

~and Simple Past Tense as well. This kind of mistake happens to

Indonesian learmers learning English because they uSually say :
Ibu sudah pergi ke pasar keﬁarin pagi.
(Mother went to markef‘yesterday morning).
(Mother has gone to marfet). (see page 31)

(Mother already went to ma;kei yésterday morning).

8) Quirk, R., Greenbaum, S., Leech, G., and Svartvik, J,
A_Grammar of Contemporary English. London Group
Ltd., London, 1974, page 80

9) Ibid.




79
It iskalso‘very‘possible that the learners make such er-
- rors, because there is & close rélationship between the Sim -~
ple Past Tense and Premeat Perfect Tense. Theréf&re,u it  is
necessary to clarify the existence of the regular and irreg-
ular verbs aﬁd the_difféfence befweem the time expression
used in Simple Past Tense and Present Perfect Tense.
Let us sfaft discussing the past tense of regular verbs,
The past tense of‘regular verbs is formed by adding ggg, to

the infinitive, for example :

infinitive | “ past tense
to work. - wofkgg
to walk ~ - . walked

" to talk -~ talked
to expect - ‘ expectgﬁ
to want - wanted
to discuss - discussed

Regular verbs that end in -¢ in their infinitive have =d only

in their past tense, for example :

infinitive -~ past tense
to love - loved
to live - iiveg
"ta smile - ~ smiled
to arrive - arrived
to changg"‘ - | changegd

When the infinitive of a regular verb ends in a consonast pre-
ceded by an accented short vowel, the consonant must be

doubled before e of the ending -ed, for example :

‘infinitive past_tense
Lo urop - '~ drozged
to stop - stopped
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infinitive ~ past tense
to prefer - preferred
to admit - admigged ’
to clip ‘ - clipped
to chop - chopped
to cohtrél | - ‘controlled
‘to slip - slipped
to stir ‘ - | stirred

When the infinitive ends in =y preceded by a consonant, the

=¥ becomes =i before =ed is added, for example :

infinitive = E§§2_222§§
to carry -  carried
to try - . tried
to cry . cried
‘to study . studied
to reply | - - replied
to marry - married
~to dry - -+ dried

Remember that the fbllowing'verbs do not change the =y.

infinitive, ‘past tense
to play - ‘ played
to stay ‘ - stayed

The‘past tense of irreguiar verbs varies considerably.
Therefore, we must ask our learners td study the past teﬁSe
cf‘the irregular verhs by memorizing them. The list of the
irregular verbs can be seen in the appendix. (see page 97)

In Simple Past Tense there is no inflection of the vefbs:

the same form is used for all persons, the first, second, and

third person both singular and plural, fdr example :
~ I worked.

- You worked.
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- He worked.
:‘4 We uorked.
- TheyVWOrked;
I ate.
- Youuate.‘
- He ate.
- We ate;
~ They ate.
The négative of stetemente'using regular and irregular

verbs is formed by did not/didn't and the 1nf1n1t1Ve w1th-

out to, for edeple :

p-o= T ISR A ]

eI dld not WOrka,‘
= You did not work.,
- He dld not work
- We dld not work
-~ They did not work.,
-1 did not eat. = ,
- You didrnot eat.
= He did not eat.
- We did not eat,
- They dld not eat

“The 1nterrogat1ve of statements u31ng regular and 1rregular

,verbs is formed by puttlng the helplng verb gid at the begln-

- nlng of the sentences, preceding the subgect, and after the

subgect must be the verb in the form of 1nf1n1t1ve w1thout to

% and the rest of the sentence follows the verb, fmr example

- DiduI arrive?

Did you arrive?
- Did he arrive?
- Did we arrive?

- Did they arrive?
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Did I oome?”

Did you come?

Didfhe‘come?

TDid we come?

Did they‘come?

If sentences 11ke those stated above are completed w1th tlme‘

expre551ons, ‘the follow1ng examples can be used :

last nlght
last week .
last mohth_
last Thursday

last year

‘last‘summer‘

yesterday
yesterday morning

yesterday afternoon

kyesterday evenlng

the day befbre yesterday

“a week ago

two years ago

an hOur ago

To help the 1earners master the Slmple Past Tense, 1ts form

and the agreement with 1ts tlme expresslons, ‘we must glve

" them a

lot of practlce such as :

1. Change the verbs of the follow1ng sentences into past

tense, for example : He work > here. | ‘- He wgrked here.

. a.

o

c.

: They walt for her.- They waited for her.

John walksg home.

. Mary wants coffee after dinner.

Anto ‘visits his uncle,
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d. Mr. Allen~watehes television programmes.,

-e. We practice football.

f. They listen to the radio.

Add any time expression of past tense to the sentences

that you have produced from Practice 1.

Change the. following statements into interrogatives.
For example :‘They walked ‘home yesterday.
| ~-- Did they walk Kome yesterdayq
a. Mr, and Mrs., Allen practised the conversation yesterday.

b. They studied the lesson in the afternoon.

C. They learned the new words.

hd.‘Mrs.,Allen wanted figh,

e. They visited Mr. Miller last night.

Change the following sentences into‘past tense, but remem-
ber that the verbs in the following sentences are irregu -
lar verbs.

a. You eat dinner yesterday.

. be He write a letter last night.

c. They read a boOk last week.

‘d. Father speak Engllsh two days ago.
e, Those people §leep at ten last night,

f. She flnd her purse this mornlng.

5.‘Change‘the sentences‘you have produced in Practice 4 into

'interrogative.

Change the follow1ng sentences into negatlve.

For example : She watched me yesterday.

| --= She did.nothwgtch me yesterday{
‘They got it last night. | |
om They did not get it_last night.

a., He arrived at nine o'clock last Sunday.

b. I studied English last year.
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¢. Mary wanted Coffee‘after dinner yésterday evening.
d. They learned the new words an hour ago. |
e. We talked about‘the lessin last Thursday.
f. The studénts forgot doing their homework last week,
_g. Ve drank tea this morning. |
h. She‘wore her new‘dress two hours agd.
i. Mother went td market yestérday morning.

j. They bought a new radio last week,

If we, teachers, give our students a lot of practice,both oral
andhwritten; they will get used to making 'the correct pattern
of Simple Past Tense including the verb forms and the agree -

ment with the time expressions.

3.|Teaching the Present Perfect Tense

To avoid the students’ errors in the form of Present Per-
fect Tense and the past participle of the verbs and the misuse
of the time expression, teachers must also teach them Preéént
Perfect Tense, It is also wise to explain the differeﬁce‘ be~
tween the Simple Past Tense and the Present Peffect Tense in

order that they can use those two tenses correctly.

a.|The Form

Present Perfect Tense is formed with the present tense of
‘to_have + past partici le, for examplé ;- N
I have worked. |

The past‘participle}in regular verbs has exactiy the same
- form as the simple-past;

It is important to émphasize that the ngg‘in this form
is a primary auxiliary verb. We can check whether the
students still remember that gggg‘haskanother form (-s

form) has or not. It can also be checked when we should
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use those two forms. Since have/has in Present Perfect

‘Tensekis a primary auXiliary~verb,‘this pattern is dif-

‘ferent from that of have/has in Simple Present Tense.

When have/has is used in Simple Fresent Tense, we often

"need do or does to form negative or interrogative, but

ahen have/has is used in Present Ferfect Tehée, it func=-
tions as an auxiliary verb‘like«gg‘or does. Thus, if we
want to make the negative form from the statement 6f
Presént Perfect Tense, we simply add not éfterlggxg or
has. If we ﬁant to make‘the interrogative form, We’just
make the inversion of have or has and the subject, for
éxample : | | | |

You have understood the explanation.

~==(=) You have not understood the explanstion.

(?) Have you understood the explanation?

I _have eaten‘;ggch,

--=(=) I have not eaten lunch.

(2) Have‘I eaten lunch?

John has worked hard.

~==(~) John has not worked‘bafd.

(?) Has John worked hard?

‘Remember’that when have/has is direcfly\fbllowed by a
verb in pést participle form, gggg/gg§ functions as a
primary‘auxiliary; When have/has stends by itself in
a sentence, it usually functions as a full verb..Thus,
the éuxiliary'gg/gggg‘is néeded to form‘negatiﬁe"‘or

interrogative,

The practice :

a. Make the following sentences into negative.
1) The dog has died.

2) Both have gone,
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3) They have left us.
L) She has dressed neatly.
5) The mangoes have been ripe.
Makeithe following sentences into interrdgative.
1) We have attended the concert. ‘
2) Mr. and Mrs. ‘Sayono have had lunch.
3) The teacher has taught the pust tense.
4) He has ta&en a bath.

5) I have written two letters.

Make the following into negative, but remember that

 some of the sentences need dg or does.

1) The postman has sent me a letter.
2) He has lunch at one.

3) John and I have a cold.

L) The child has grown up.

5) You have to study hard.

Wake the following into mnterrogatlve.
1) He has been sleepy.
2) They have a lot of friends.

. 3) You have your hair cut.

S.

4) My niece has cleaned the floor,

5J) She has respected her teachers.

Put the verbs in brackebs into the form of Present

Perfect rense.

1) People (lie) on- the grass enjoying the sunshine
for an hour.

2) Our guide (lead) us_threugh a series of caves.

3) The industrial revolution (modify) the whole
Structure of English society. |

4) The v1llagers (thrust) spears into the tiger's

‘ stomach




5) Who (lay) the linoleum?

6) (you, wind) up your watch?

b,| Past Participle
In présénting péét participle fO‘the léarnérs we must
follow thé otder~of presenting the‘past tense forms.
Thus, in teaching past participle;‘regular verbs must
vbe presented‘firSt, earlier than the irregular ones.
Since forming the‘past participle of regular vérbs is
easier than forming that of irregular ones, therefore
many students ofien‘overgeneralize the past‘participle
of the irregulaf verbs by using’the rule of forming
the past‘pafticiple of regular verbs,

Dealing With that opinion Royal Skouson in his book en=-

titled Substantive Evidence in Phonology states that :

There is substantive evidence in English for a
rule or a set of rules of regular past tense
formation. For example, new speakeys may first
learn that the past tense of go is went, yet
later on these speakers may replace this ex-
ceptional past tense form by goed. Such a
change in the data, that is, the input data
contained only the form went and not goed,
shows that such speakers have learned that the
past tense is based on the present tense form
~and that some past tense marker is added . to
the present tense to form the past tense. Some
speakers may add the past tense marker direct-
ly to wment itself to give wented. This type of
change would indicate that these speakers have
at least realized the regularity that the past
tense ends in a past tense marker and may not
have yet captured the regularity that the past
‘tense marker is added to the present tense
fOI‘m. 10) , ‘

~ Since in regular verbs the form of past participle is
the same as‘ﬁhat of past tense, the learners will al-
so make the same mistakes. For example,they may first

‘learn that_the past‘particiyle of lay is laid,  but

lO)‘Skouson, Royal.‘§ubstantive'ev;dence in Phonology. Univer-
sity of Texas at Austin, The Hague, Paris, 1975, page
26. ' X '
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later‘they‘may‘replace‘this exceptional past partioiplef

. form by layed. Then they make mistakes such as :

*Who has layed the linoleum?

To solve this problem we must give the list of”irregu e 

lar verbs and a lot of practice to the learnero. We ask.

them to learn the past part1c1ple of the 1rregular verbs .

 by memorlzlng and b951des, we can glve ‘a 10» of practlcefgh‘
“that 1nvolves the ube of past part1c1ple of the 1rregular f
 Verbs 1n the practlce. The past tense and the past partl-
vc1ple of the lrregular verbs are shown in the appendlK.‘

1(see page 97)

The Qractlce $

e Fill in the blanks w1th the past part1c1ple of the verb"i‘ :

‘eln front of each seutence.
‘ rl) come  ‘They have ;.,.;.

. 2) go He has ......

3) leave She hdb .to.oo

4) begin I. have‘......
“5) eat “We have'......
'6) drink What have you ... 2
'7)”meet . Has Mary eedes you? B i
8) readh“ The students have not soeses the book
9)1ay#.Who have ceese. the mattress°
10) wind Have you .....;'up your watch°
“ll)‘thruSt The v1llagers have ¢ove s spears into- the
I tmger's stomach, |
‘3;2)‘lie’r ‘People have eessse On the grass enaoylng

the sunshlne for an hour.

‘b. Put the verbs in brackets into Present Perfect Tense.

1) My sister (buy) a pen for me,
2) The children‘(sleep) well,




‘3) They (find) the‘answers.
'4) I (not take) your money.
. 5) We(not get) anythlng.
‘6) She (not pay) her school- fee.
7) (you, understand) my explanat10n° o
>“8)“(the car, hlt) the dog° |
9)  (the bell rlng)? _ |
lO)v(eVery body, hear) the news°
| il)f(the two boys, w1n) the prlze°
.12) They (have) lunch. '

Time Expressions |

- Tine expressione are also problems for the: learners, es-,"

wpecially becsuse of the interference with Indoneslan.e

| In Indonesian‘we‘cen say : :
| - Ibu sudah pergl ke pasar kemarln pagl. ex

‘ That sentence is. considered to be a- good one Jn Indone-
sian, whereas in,Engllsh we cqnnot say just the translaf
‘tion ofrthat sentence"‘

*Mother has gone to market yesterday morning.

i because there is no concord or. agreement between the verb
group and 1ts tlme expresslon, the verb shows Present
Perfect lense, whereas the tlme expre351on shows past %
tense. In tnls case it is necessary for the learners to

"know the theory of Preoent Perfect Tense and Slmple Past -
Tense and it is a&so necessary for them to know the re-
latlonshlp between them. Here are the dlfferences and

"the slmllarltles.

'a. The slmllarltles

Both Slmple Past Tense and Present Perfect Tense ‘

are related to the past time.
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'b. The Difference
‘_The past tense expreSSes an‘action‘that happened at a spe=
cified time 1n the ‘past, whereas the Fresent Perfect Tense
does not.
‘It is also stated in the Structure Refeience‘Beok I, Eng-
lish for the SLTA publlshed by the Department of Education
and Culture that ;- |

- The paet tense expresses an action whlch happened“‘
in the past. It may tell or ask about something
that happened one time in the past or it may tell
or ask about somethlng that happened several time
or for a long time in the past. 11)

To avoid the confusion in using the tlme expression -‘be-,~
etween Slmple Past Tense and Present Perfect Tense teachers
can tell the learners that if we want to exprese an action
:‘ in an unspecifled in the past we can use the Present Per-
fect Tense, but we cannot use any tlme expres51on e that
~ shows past tlme, ‘80 the sentence |
| ~ Ibu sudah pergiake pasar kemarin pagi.
can be translated.into |
- Mother has gone to market. ( see bage 31 )
But if we want‘te esetthe”time expression yesterday mornin ,
we muSt not use the Present Perfect Tense. We must use
that tlme exPress1on for the Simple Past Tense, thus the
sentence above is translated into :
- =-Mother went to market yesterday morning,
It is aiso possible for us to translate thati- sentemce without
using the time expre851on : | o
- = Mother went to market
We can glye the learners some more examples of past time

expressions used in Simple‘Past‘Tense. (see page 82)

" 11) Departemen P dan K. Engllsh for the SLTA, Structure Refer-
.ence Book I, ° Jakarta, 1979, page 3. ‘
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Further, Thomson, A. J. and Martinet, A, V. in their Book

A Practical English Grammar state that :

The 31mple past is the tense normally used for the
relation of past events. ‘
- 8. It 1s used for actions completed in the past at
‘ a definite time. It is therefore used :
‘1) for a past action when the tlme 1s glven.
= I met him yesterday.
2) or when the time is asked about, _
- When did you meet him? - i
3) or when the action clearly took place at a de-
finite time even though this time is not men-
tioned, '
- The train was ten minutes late.
= I bought this car in Montreal.
= How did you get your present job? R
4) Sometimes the time becomes definite as a re-
~sult of a question and answer in the present
"perfect,
=~ Where have you been? I have been to the ope-
‘ 'ra, Did you enjoy it?
b. The smmple past tense is used for an action whose
time is not given but wiich :
1) occupied a period of time now terminated, or
- 2) occurred in a period of time now terminated,

These may be expressed dlagrammatlcally thus :
1), ‘ v
2) .0.0‘.'....66‘0 X‘l...‘."‘l...‘..

examples of type 1)

He worked in that bank for four years (but he
does not work there now).

She lived in Rome for a long time. (but is not
living there now).

examples of type 2)

My mother once saw Queen Victoria.
Did you ever hear Caruso sing? - 12)

Thomson and Martlnet also -‘explain'f‘present perfect
tense as follows : | -

The present perfect tense is used for past actlons
whose time is not given and not definite.,
a., for recent actions when the time is not mentioned.
- I have read the instructions but I don't under-
.stand then,
- Have you had breakfast? No, haven't had it yet.
compare with : ‘
~ I read the instructlous last night, (tlme glven,so
simple past) :
- Did you have breakfast at the hotel? (i.e. before
you left the hotel - simple past)

12) Thowmzon, A.J. and Martinet, A.V. A Practical English Gram-
‘ - mar. Oxford University Press, 1969, page 101 - 102,
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C.

If however the forest has been cut down and

or negative and conveys

No, I haven't seen him this week
‘ring this week).

~clear idea of when it happened we use the

Note possible‘answers to questions in the present
perfect tense : |

~ Have you seen my stamps? Yes, I have / No, I

- ‘haven't, o
Yes, I saw them on your
desk a minute ago.
Yes, I have / No, I
haven't had it yet,
Yes, I had it at seven
o'clock.
Yes, I had it with Mary
S (time implied),
It can also be used for actions which occurred fur-
ther back in the past, =~ 'provided the connection
with the present is still maintained, that is that

- Have you had breakfast?

~the action could be repeated in the present.

'T have seen wolves in that forest' implies
that it is still possible to see them, and
~'John Smith has written ' a number of short
stories' implies that John Smith is still a-
live and can write more, N ,

John
Smith is dead we would say, 'I saw wolves in that
forest once/severul times' or 'I used to see
wolves here! and 'John Smith wrote a number of
short stories', : A ‘ ‘
Note also that when we use the present perfect in
this way we are not necessarily thinking of any
one particular action (the action may have occurred
several times) or of the exact time when the action
was performed, If we are thinking of one particular
action, performed at a particular time we are more
likely to use the simple past, '

It can be used with lately, recently, yet :

- There have been a lot of changes recently,
% He hasn't finishee yet. ‘ ‘

or with a word or phrase denoting an incomplete pe-
riod of time e,g. today/this week/month/year,

It is chiefly used in this way in the interrogative

the idea that the action

happened (or didn't happen} at some undefined time

within the mentioned period :

Have you seen him today? (=at any time today),
(=at any time du=~

But the affirmative is possible :
We have had a lot of storms this winter. (=at various

times during the winter),

I have been very busy lately.

When the present perfect is used in this way there
is no clear idea of when within the period the ac-
tion happened or of how many times, If there is a
simple

past :

He went back to work this morning, They arrived to-

day.
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Note that the present perfect can be used with thig
morning only up to about one o'clock, because after
that this morning becomes a completed period and
actions occurring in it are put into the simple
ast : : :
at 11 a.m.) He has rung up three times this morning
‘ ‘ already. ' ‘

(at 2 p.m.) He rang up three times this morning.

Similarly this afternoon could: be used with the pre-
sent perfect only up ¥o about 5 p.m. ‘

The present perfect can be used with the time express-

ion : ‘ o
a. for an action beginning in the past and still

- continuing : ‘ : ;
' - He has been in the army for two years. (he is

still in the army). ‘ . |

I have smoked since I left school (I still smoke)
- He has lived here all his life (he still lives

here)., ‘ '

I have never seen an armadillo.

1 have always written with my left hand.

This type of action might be expressed by a diagram
thus : : ; ‘ ‘

{ ]
‘Compare the above sentences with :

He was in the army for two years. (he is not in the

army now) ‘ ‘ | ‘ |

I smoked for ®ix months. (and then stopped smoking).

ge I%Ved here all his life. ( presumably he is now
ead). ' - ‘

In each of the last three examples Wwe are dealing

with a completed period of time ! — 1,
so the simple past is used. o

b, However the present perfect can sometimes be used

for an action which began in the past and are fi-
nishing at the moment of speaking. It is. chiefly
used in this way with the verb be -~ and with nega-
“tive verbs : . = ‘ R '
(on meeting someone) I haven't seen you for ages
(but I see you now). . . R
This room hasn't been cleaned for months (we are.
cleaning it now). ' | 3
It has been very cold lately but it's beginning to
get a bit warmer, .

This type of action,could be expressed by diagram
thus : ! = —1 ‘

FOR and SINCE

for and ginEe used with the present pverfect tense
for is used with g period of time : ; ‘ -
-~ for six days o :

- for a long time

for uéed‘with the simple past tense dehotes a ter-
minated period of time : ‘ ‘
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We lived there for ten years (but we don't live there
now) . ‘ R o N

for used with the present perfect denotes a period of
time extending into the present : |

We have lived in London for ten years and still 1live
there). : :

for can sometimes be omitted :

We have bee n here an hour.

Since is used with a point in time and means 'from -
that point to the time of speaking', It is always

used with a perfect temse : - . |
She has been here since six o'clock (and is still here)
gince can newer be omitted, : :

Note that there is a rather confusing difference  be- -
‘tween last and the last, We say 'I have been here
gince last week (month, year & €)', but 'I have  been

here for the last week!',

‘In the first sentence 'last week' means a point in
time about seven days ago. In khe second sentence’
'the last week' means the rericd of seven days that
have just finished. 13) ‘ . ‘ ‘

By explaining or showing the above excerpts, the writer
is sure that he has‘helpéd the learners understand past tense
and presént perfect tense well and thus, they can differenci-
ate between the two tenses and further they can use eaéh ”bf
the tenses exactly. | |

So far the writer thinks that all fhe major problems or
diffiéulties‘have beéh solved, The other‘mihqr‘problems such |
as the errors in diction :.dinner,‘breakfa t, evening, | in-
stead of lunch can be solved by telling them the correct
word; The‘wrong time éxpreSSions‘such as morning é\terda‘,
last‘mérning,‘instead of yesterday morning,can also be solved
‘by telling them the correét expressidn and_giving soﬁe more |

examples on those,

13) Ibid. page 105 - 106.




CONCLUSION AND SUGGESTION

After discussing and analyzing the students!' errors the

~writer concludes that‘most‘errors made by them are caused

'by’:
1.

2

intralingual interference,‘that is, interference
caused by the target lahguage itself. The interfer-

ence here mainly lies on :

' a. overgeneralization

be ignorancé of rule restrictions

language transfer, that is, errors caused‘by the in-

fluence of the mother tongue in producing sentences

or expressions in the target language,

In solving the errors the writer suggests that'teachefs

of English should teach Present Perfect Tense through some

steps as follows :

1.

‘3.

teach Simple Present Tense including its forms in

positive, negative and interrogative.:This time the
verb have must become the center of‘teaching, since
later it will be necessary in forming fhe verb group
in Present Perfect Temse.

teach Simplé Past Tense including its forms in pbsi—
tive, negative and ihterrogative, and its time ex-
pressions. Thisftime‘régular verbs must be‘taught
first and the ifrégular ones later. In presenting
the regﬁlar verbs the spelling fules must élso be em-
phasized, | | |
teach Present Perfect Tense including also its forms
in negative, positive and interrogative, and the time

expressionsy the relationship between thic tense




96

and the‘previous‘tenées including the differences and
the similarities. It is also impoftént to‘show‘ the
' : stﬁdents the list of irregular verbs,‘ |
Dealing with the errofs caused by the language transfef
teachérs'can explain the differences between the two languages,
In addition to the teaching steps above teachers must give a
lot'of practice in written forms or orally}in‘order to help |

the learners get used to using the certain points,




APPENDIX

| IRREGULAR VERBS 3
Note: Words underlined are older forms,

Infinitive

~abide
arise

awake

backbite

backslide

‘be (am,art,is,are)

Cbear

beat
becone

befall

beget

begin

- ‘bshold
bend

. bereave

beSeech
‘beset
bespeak .
bestride

bet
betake
‘bethink

" bid

bide
bind
‘bite
bleed
blend
bless

- blow

break
breed
bring
broadcast .
browbeét
build

burn

'3b0und
bit
. bled

Past tense

‘abode, abided

arose

awpke

backbit

backslid |
was, uast, wert,were
bore, bare

‘beat

became~
befell
beg@t, bega;_

began

. beheld
bent

bereaved, bereft
besought
beset

bespoke

bestrode

Past participle

abode, abided
arisen

 awaked, awoke
"backbitten, backbit

backslid,backslidden

" been

borne, born
beaten

‘become'
~ befallen

begotten

‘begun

beheld -

bent, bended
bereaved, bereft
besought

~ beset

bespoken, béspoke
bestridden,bestrid,

“bestrode

bet, betted

‘betook

bethought

‘bade, bid

bode, bided

blended,‘blent
blessed, blest
blew |
broke

~ bred
“brought

broadcast,broadcasted
browbeat

built .

burnt, burned

‘bet, betted

betaken
bethought
bidden, bid
bided

- bound

bitten, bit
bled

blended, blent
blessed, blest

blown

broken, broke
bred

brought

broadcast,broadcasted
browbeaten

built

burnt, burned




Infinitive

‘burst
ﬁbuy‘
- cast
catch
chide
choose
| cleave
cling
clothe
© come
' cost
creep
crow
cut
 dare
. deal

- aig
do

x“draw

dream
drink

. drive

dwell
eat,

fall
feed

fight

" find

flee
fling.

- fly
forbear
forbid
forecast
forego
foreknow
foresée
'foretell
forget

- forgive
forsake

forswear

- Past Tehge
burst
bought

cast
caught
chid

~chose
clove, cleft
- clung

clothed, clad
came
cost

~ crept

crowed, crew

cut

dared, durst

dealt -

dug, digged
did

‘drew _
dreamed, dreamt
drank '

drove
dwelt

ate
fell

fed

‘ fought,‘
- found'

fled
flung
flew

. forbore
forbade, forbad

Past Participle

.98

bufét

bought

cast

caught
chidden, chid
chosen - -
cloven, cleft
clung o
clothed, clad
come

- cost

crept
crowed -

S cut

dared
dealt

“'done

drawn

dreamed, dreamt .
drunk X
driven

dwelt. -

eaten

fallen

fed

fought

found

fled

- flung
flown

forborne _
forbidden

forcast, forcasted forecast,forecasted

forewent

foreknew

- foresaw
foretold

forgot

forgave

forsook

forswore

foregone
foreknown

foreseen

foretold
forgotten
forgiven
forsaken

forsworn




Infinitive

freeze
- gainsay
get

. gild
- gird

give

g0

grave

‘grind

grow

‘ hamstring
‘ ‘hang

‘”have (__gﬂ, has)
 :hear

. heave
U hew

 hide

Copit

~“hold
 ,hdrt
 inlay
keep
kneel
 knit
know
- lade
o lay o
‘lead,
lean ;
leap
- learn
leave
~ lend
‘ letf' 
lie
light
~lose
make
‘mean |

Past Tense
froze o
galnsald :

- got

gilded, gilt
girded, girt
gave“‘ |
went
graved‘

~ ground

grew

hamstrlnged hamstrung
e hung, hanged
‘had
‘heard ;
_ heaved, hove

hung, hanged
nad, hadst
heard =
heaved, hove
hewed

hid

hit

" “held

hurt

~ inlaid

kept

 knelt

knitted, knit
Knew
laded

laid
led .

‘leaﬁﬁ, leaned

- leapt, leaped

‘learned, learnt

©left

lent
let

lay |
lighted, 1lit

“1ost

made

‘ meant

99

- Past Partiéiple

frozen

gainsaid

got, (UsA gotten)
gllded

‘glrded, glrt
.given
- gone

graven, graved

‘ground

grown ‘
hamstrlnged humstrung

hewed, hewn
hidden, hid

‘hit

held
hurt

~inlaid
kept

knelt |
knitted, knit

~known -

laden
laid
led

" leant, leaned
‘leapt, leaped
~learned, learnt
left

lent -

let

lain
light, 1it
lost

made

meant




‘meet"
melt
‘misgive
mislay
" mislead
‘mistake

‘*misunderstand

mow

~ outbid
outdo
‘outgoi‘ "
outgrow
outride
outrun
‘outehine

. outspread

'*{@utﬁear

"25 overbear
‘rovercast

 overcome
overdo
~‘overdraw

~ .overeat

overfeed
_‘overgrow
. overhang
overhear

" overlay

overleap
overlie
- override
]overrun

o oversee

overset
“overshoot
‘6versleep
overspread

 “0vertake

overthrow

Past Tense

met
melted
misgave

~ mislaid

misled“

‘mistook

misunderstood
mowed

1 outbade, outbld
outdid

outwent

‘outgrew

outrode‘ g
outran’
outshOne;

~ outspread
 outwore

overbore
overcast
overcame

- overdid

overdrew

'~ overate

overfed
overgrew
overhung

koverhéard
~ overlaid
overleapt, overleaped

overlay

“overrode

overran

oversaw

overset
overshot
overslept

‘overspread

overtook
overthrew

overthrown

‘100

P st Part ci le

met“; o

]
melted, molten

- misgiven
mislaid
‘mlsled
lestaken

mlsunderstood
mown

outbidden, outbld
outdone

‘1 outgbnef

outgrown
outridden’
outrun
outshone

" outspread -

outworn

‘overborne
overcast

overcoume

“‘overdone -

overdrawn
overeaten\

_ overfed
overgrewn
overhung
overheard

overlaid
overleapt, overleaped
overlain ‘
overridden
6verrun o
‘o#erseen

‘overset
- overshot

overslept

overspread

overtaken
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_overwork
‘partake
pay
put
read
rebuild
recast
relay
“rend
- repay
reset
retell
rid
. ride
“‘jring_
rise
‘rive
run

- saw

say .

- Bee

seek
sell
send
set
‘sew
- shake
shear
shed
shine
shoe
shoot
show
shred
‘shrink
‘shrive
shut
sing
sink

overworked

parteok.
paid
put

| ‘r‘eadi [red)

rebuilt
recast
relaid
rent
repaid
reset

‘ retold;

ridden, rid
rode
rang, rung

Crose

rived
ran
sawed
said
saw
sought
sold
sent
set
sewed
skook

‘shearéd, ghore
‘shed

shone
shod
shot
showed

shredded, ghred
shrank, shrunk
- shrove, shrived

shut
sang, sun
sank, sunk
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dverworked,overwr0ught
partaken
paid '
put‘_ i
read (red)
rebuilt
recast:
relaid
rent
repaid
reset
retold

rid, ridded
ridden

risen
riven, rived
run

sawed, sawn

sald

geen

sought

sold

sent

set

sewn, sewed
shaken ‘
shorn, sheared
shed

shone

shod

shot

shown, showed
shredded,‘ggggg

- shrunk, shrunken
‘shriven, shrived
shut .

sung
sunk, sunken




Infinitive

sit
slay

~ sleep

slide
sling

‘8link

slit
smell
smite

T BO0W

speak
speed
spell

"[ s§én& -

spill

Coospim
 spit
o osplit
- spoil

spread

' spring
~ stand

stave
steal

‘stick

sting -
stink
strew
stide
strike
stfing
strive
sunburn
sWear

sweep

swell
swim
swing
take
teach
tear

‘Pagt Tenge

sat

slew

slept

slid

slung

slunk

slit

smelt, .smelled
smote, sgmit
sowed

spoke, spake
sped, speeded
spelt,‘SPelled
spent

spilt, spilled

spun, span

spat, spit
split ‘
spoilt, spoiled
spread

sprang

. stood -

stove, stave

stole

stuck

stung

stank, stunk
strewed
strode
struck
strung
strove

sunburned,‘sunburnt‘

sSWOre, sware
swept
swelled

swam

smmg‘

took

taught

tore

Pagt Participle
sat

slain

sleptk

slid, slidden
slung -

slunk

slit

‘smelt, smelled

smitten, gmit
sown, sowed

- spoken

sped, speeded
spelt, spelled
spent
spilt, spilled
spun

spat, §2l2‘
ysplit ‘ |
spoilt, spoiled

spread

sprung
stood

stove, staved

stolen

sthhk

stung

stunk

strewn, strewed
stridden, strid
struck; stricken
strung |
striven .
sunburned, sunburnt
sworn

swept
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swollen, . swelled

swum
swung
taken
taught

torn




Infinitive

think
“thrive
throw
thrust
tread
unbend
‘unbind
underbid
“undergo
ﬁndersell 
undepstand
undertake
underwrite
undo
.upset.
wake
waylay
wear

. weave

wed

weep

win

wind

withdraw
‘withhold

withstand
‘work
wring
write

14) Hornby,
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Past Tense Past participle
thought thought
throve, thrived thriven, thrived
threw ' thrown

~ thrust thrust
trod trodden, trod
unbent ‘unbent -
unbaund unbound
underbid underbidden, undefbid
underwent undergone
undersold ‘ undersold
understood understood
undertook undertaken

" underwrote underwritten
undid undone
upset upset
woke, waked waked, woken, woke
waylaid waylaid
wore worn
wove . .woven, wove
wedded wedded, wed
wept wept
won | won
winded, wound winded, wound
withdrew withdrawn
withheld withheld
withstood withstood o
worked, wrought ' ﬁorked, wrought
wrung’ wrung |
wrote, writ written, writ 14)

4.5., Gatenby, E.V., Wakefield, H. The Ad§anced
Learner's Dictionary of Current Engli h., Second
Edition, Oxford University Press, London, 1963,
Page 1171 - 1175, | \
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EPILOGUE

"eesevsese. DO One can really teach anyone

_anything : the learners must do the learning™
E.V: PULLIAS and J.D. YOUNG,
A Teacher is Many Thingé, 1968,
pége 41, |

"You must love your students. Or you must love
the subject you are. teachingl It'skbest‘if
you can love them both," |

RICHARD VIA, English through
‘Drama, in Current ~Trends in
Lénguage Teaching by Forum

Staff, Forum XII -‘l, 1974, *)

e WK KK KN W,

*) taken from An;;ntroductory Reader to METHODS of Teaching
English in Indonesia by dJ. BISMOKO, IKIP Sanata Dharma
Yog‘yakarta, page 14k, - - . R






